Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Uryntuwy 1

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
GrGJYULh RUNURUMGSUNULP (UNUULS GREYULN YUN2ULUUL cNRULLENR) Uuuny

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl 3 = o0

c = 2 3 = nwaklp

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 90,410,644.5 81,358,320.2 9,052,324.3
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 4,596,940.7 4,105,899.7 491,041.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 4,189,940.7 4,023,899.7 166,041.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 4,175,940.7 4,009,899.7 166,041.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 4,175,940.7 4,009,899.7 166,041.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 1,954,453.2 1,954,453.2 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 788,767.4 788,767.4 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 82,525.7 82,525.7 -
- UndntGwy SwrwjnipnLGbEn 4213 6,012.2 6,012.2 -
- Ywuwh SwrwjnipnLtGbp 4214 69,535.6 69,535.6 -
- Uywhnjwgnwywb dwfuutkn 4215 3,558.0 3,558.0 -
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 40,296.0 40,296.0 -
- UpunwuwhdwOwb gnpéninniibbph gény dwjuubin 4222 101,000.0 101,000.0 -
- Ywnswywl swewinipyntbbtn 4231 11,500.0 11,500.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 44,634.0 44,634.0 -
- Wuwwnwywqih dwubwghunwlwb qupgugiwl 4233 111,700.0 111,700.0 -
SwrwjnLpnLbbEn
- SbnGYwuinywywh swewjnientbbtn 4234 15,134.0 15,134.0 -
- Ywrwywnswlwb Swewjnipntbbbn 4235 35,000.0 35,000.0 -
- UshgwnuwihG L hwOpwihG ubGGnh SwrewnipnLGGen 4236 26,600.0 26,600.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Lbpyuwywgnigswlwb dwiuubp 4237 102,732.0 102,732.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 48,260.6 48,260.6 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,000.0 2,000.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 144,012.0 144,012.0 -
Gnpngntd b wwhwwGnid
- Qpuublwyuwhl Gnipbp L hwgniuwn 4261 38,010.0 38,010.0 -
- Spwluwnpuwihb Gnipkn 4264 46,605.5 46,605.5 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 5,670.0 5,670.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 8,000.0 8,000.0 -
- Untpuhnhwltp ng $hOwbuwywl wenwywh 4511 226,042.8 226,042.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- LOpwghy npwidwbnphbbp wewnwywh L 4638 23,527.2 23,527.2 -
hwdiwjopwiht wrluinpwiht YuwqdwytpwnepntGbbnph
- W Gwwuinbbp pinuobihg 4729 53,040.0 53,040.0 -
- Mwpunwnhp y&wpokn 4823 1,283.5 1,283.5 -
- Uj) Swiuubn 4861 20,000.0 20,000.0 -
- Ywnswywl uwppwynpnLibbp 5122 111,041.0 - 111,041.0
- Wy dbpbawobn L uwppwynpniibbp 5129 55,000.0 - 55,000.0

2113/ 01| 1 | 3 |Upwnwphlb hwpwpetpnientbbtn 14,000.0 14,000.0 -
wyn pynd’
1. GpLwlb punuwphl dhowqquyhl Jwplwihy 14,000.0 14,000.0 -
20nph&nt weuynipiniGG66pH nhdwg
YAwpdwl swfuubn
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 14,000.0 14,000.0 -

2150101 | 5 | 0 |2anhwGnip pGnyph hwapuyhl 325,000.0 - 325,000.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnh 325,000.0 - 325,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 167,000.0 - 167,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 167,000.0 - 167,000.0
2. Gpluil punuiph qifuwynp hunnwluigéh 90,000.0 - 90,000.0
hnwlwiwgdwl Yapniénipnt G
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 90,000.0 - 90,000.0
3. Qnunpwynndwl L ueniquwunndwl 68,000.0 - 68,000.0
Ouwifuwqdbiph vpwilynid
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

- LwjuwgswhbGunwgnunwywb dwfuubn 5134 68,000.0 - 68,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 82,000.0 82,000.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwGntp pGnyph hwGpwihb SwrwnipnLtGOGn (wy 82,000.0 82,000.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdmidGbp, huygunhdnidlbp, nuitnnwnpuiGh 45,000.0 45,000.0 -
npnnidG6ph b YahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhowlywd YyawnnioGén
- Mwpunwnhp y&wpokn 4823 45,000.0 45,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 37,000.0 37,000.0 -
qpuiligiwl, qhwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Ywwywé Jawpnidlbn
- Uwulwghunwyw swrwjnipntGbtn 4241 12,000.0 12,000.0 -
- Mwpunwnhp y&wpokn 4823 25,000.0 25,000.0 -

2200(02|0 | 0 nuUcSMULNHB3NFL 24,420.0 24,420.0 -
wyn pynid’

2220|102 | 2 | 0 | Pwnuwpuwghwluwl wwywnwwbnipinta 15,000.0 15,000.0 -
nnphg’

2221|102 | 2 | 1 |Pwnwpwghwywl wwwwwbntpntl 15,000.0 15,000.0 -
wyn pyntd’
1. Pwnwpwghwluwl wwpwnwuwlbnpjull 15,000.0 15,000.0 -
wowlgnipint G
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwlntd

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 9,420.0 9,420.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 9,420.0 9,420.0 -
wyn pynd’
2. Uypaunpwlpuyhl wipfuunnwlGpuyhl 9,420.0 9,420.0 -
Swipuynipywil hpuwiyuiGuigni J
- UntpuhnhwOtbp $howbuwlywb wbnwywh 4512 9,420.0 9,420.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2400(04|0 | O SLSGEUULUL <UrurtMPNt@3NFLLEN 23,547,252.2 21,156,387.6 2,390,864.6
wyn pynd’

2420|104 | 2 | O | Ynuqunluwnbunipnt G, wiwnweuyhl 250,000.0 - 250,000.0
wnbwnbunipinil, dyGnpunipintl b
npunpnnip/nLi
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

242404 4 |Nrngntd 250,000.0 - 250,000.0
wyn pynd’
1. Nenquwl gquiGgh Yuenignid L 250,000.0 - 250,000.0
YGpwlnpngniy
- GLlpbnh L 2hOneeyntGbBnph urenigned 5112 250,000.0 - 250,000.0

2430104 | 3 | 0 |Ywrbihp L FaGpgbwnhyw 4,879,999.7 20,000.0 4,859,999.7
nnphg’

243504 | 3 | 5 |E|GYupwtabnpghw 4,879,999.7 20,000.0 4,859,999.7
wyn pynd’
1. GYpnwwlwl Gepnpntduyghlb puwllyh 2,080,169.0 - 2,080,169.0
wowlgnipywdp hnwywlwgynn «Gpbwlh
taGpquiwipni GwyGwnnpiuily dpughn
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 2,080,169.0 - 2,080,169.0
2. Uplbywt Gypnwuyh tabpquifubuynnntpiuil 1,565,953.8 - 1,565,953.8
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnippudp hpwlwluwigynn
«GpLwGh FaGpquiwpnnt GwyGunnt piuil»
ppwduwpGnphuyhl dpwighn
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 1,565,953.8 - 1,565,953.8
3. «GpLwh Fabpquiwpnn GwybGunntpyuily 600,000.0 - 600,000.0
dpwaqnh hwdwphbwbuwynpnid
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 600,000.0 - 600,000.0
4. «Gypnwwywl shnipintGn Gplwih 519,872.5 15,000.0 504,872.5
wpbuyhl hwduylph hwdwny
ppwduwpGnphuyhl dpwighn
- Uj) Swiuubn 4861 15,000.0 15,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 504,872.5 - 504,872.5
5. «GYpnwuwlywil dhnipyntGp GpliwGh 114,004.4 5,000.0 109,004.4
wnbuyhl hwduylGph hwdwpy» dpwgph
hwiwphGuwlbuwnpnid
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 109,004.4 - 109,004.4

2450104 | 5 | 0 | Spwluwnpwn 20,987,176.9 19,812,312.0 1,174,864.9
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 10,242,265.3 9,073,030.1 1,169,235.2
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 2,784,000.0 2,784,000.0 -
L wwhwwlnd
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 2,784,000.0 2,784,000.0 -
wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
2. Uupuywn-pbinnlyw swdyh hhoGulnpngnid 150,000.0 - 150,000.0
- GLlpbnh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 150,000.0 - 150,000.0
3. Gqnwpwnbnh YGpwlnpnqnid 50,000.0 50,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 94,500.0 94,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 94,500.0 94,500.0 -
wwhwwlntd
5. <twnpnuinlb wilgnidGbph Juenignid L 380,000.0 300,000.0 80,000.0
YGpwlnpngniy
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 300,000.0 300,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneeyntGbBnph wrenigned 5112 80,000.0 - 80,000.0
6. Ywinouyhl Ywrnigywoéplbnh 180,000.0 180,000.0 -
Yepwlwiqlnid b wwhwwlnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 90,000.0 90,000.0 -
wwhwwlntd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
8. Uuwypninhlbnh L thnnnglbnh 600,000.0 40,000.0 560,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGGBnph urenigned 5112 80,000.0 - 80,000.0
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 480,000.0 - 480,000.0
9. ®nnnglbph wwhwwlnid &Y whwaqnpdniy 130,000.0 120,000.0 10,000.0
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 120,000.0 120,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 10,000.0 - 10,000.0
10. UdinnfyuywiGunnbnh Yuquiwlbnwdwla 538,220.6 493,220.6 45,000.0
Sweuyntpint
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 49,220.6 49,220.6 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
- Uj) Swiuubn 4861 444,000.0 444,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 45,000.0 - 45,000.0
11. BapwhwppwlyGbph Juwenignid 25,000.0 - 25,000.0
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 25,000.0 - 25,000.0
12. Uuhwlwl pwlyh wowlygnipywdp 1,094,714.9 1,094,714.9 -

hpwlwlwgynn pwnwpuyhlG
Glpwlwenigdwdplbinh L pwnuwph Yuynia
quinquiguwib GEpnpm duyhl Spuwighn
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
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MM
Puwdhl

Snnh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

8

- W Swfuubin

4861

1,094,714.9

1,094,714.9

13. ®nnnglbph, hpwwwpwlGbph b wyghlbph
Yuhwynpnig

324,235.2

25,000.0

299,235.2

- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b
wwhwwlntd

4251

23,000.0

23,000.0

- W Swfuubin

4861

2,000.0

2,000.0

- Wy dbpbawobn L uwppwynpniibbp

5129

274,885.2

274,885.2

- Ujnepbp L wwpwqwlep

5221

24,350.0

24,350.0

14. Uuhwluil pwiGyh wouwilygni pjuiip
hnwluwlwgynn punwpuyhla
Glpwlwenigduwdplbnh b pwnwph Yuyni G
quinquiguwilG GEpnpnmduyhl Spuwignh
hwdwlywpqnd L juwewywnpnig
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

2,785,594.5

2,785,594.5

- W Swfuubin

4861

2,785,594.5

2,785,594.5

15. Uuhwluil pwiGyh wouwilygni pjuiip
hpwlwlwgynn pwnwpuyhlG
bapwlwenigywdéplbph L pwnwph Yuynit G
qunquigiwl GepnpnLduyhlb Gpypnpn dpwighn
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

1,106,000.1

1,106,000.1

- W Swfuubin

4861

1,106,000.1

1,106,000.1

2455

04

funnnywywwpwh0 b wy; bnpwbuwnpun

10,744,911.6

10,739,281.9

5,629.7

wyn pynd’

2. Gplwlbh dawnpnwnipunblh wpfuunnwGplbnh
Yuquwlybpwnd (wuindhpwlduwdéd
[hwqnpnipni GGGn)

2,754,929.2

2,754,929.2

- UntpuhnhwGtp ny $hOwbuwywl wenwywh
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

4511

2,754,929.2

2,754,929.2

3. dbpgbwnlyw ki Gyinpuwnpwluwynpunny
nipbnpunhnfuwnpowl Sweuyntpint o

607,831.6

602,201.9

5,629.7

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

4511

602,201.9

602,201.9

- GLlpbph L 2hOnepyntGGBnph urenigned

5112

5,629.7

5,629.7

4. dbpwlwenigdwi L qupquguwl
Gypnuwluib pwilGyh wouwlygnipjuidp
bpnwlhwGwgynn Eplwih d6wnpnunihinbah
Yepwlwenigowl Eplypnpn dpwaghp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

348,071.3

348,071.3

- W Swfuubin

4861

348,071.3

348,071.3

5. 6YpnwwlyuwiG GepnpntduyhlG pwlyh
wowlygnt pruwidp hpwlwbwgynn GplwlGh
dawnpnwnihnbah Jepwlwenigdwl Gpynpnpn
Spwaghp (Wunndhpwlywé jhwqnpnipni G6G6n)

1,509,734.6

1,509,734.6

- W Swfuubin

4861

1,509,734.6

1,509,734.6
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1(3 |4 5 6 7 8 9

6. Gypnwwlwl shnpywl hwpbwlnipuwi 1,428,244.9 1,428,244.9 -
Gbpnpniduyghl 6pwqnh wowlygnt pyuidip
hnwlwiwgynn Gplwih dewnpnunihinbah
Ybnwlhwenigdwl Epypnpn npwdwGnphuyhla
Spnwghp (wunndhpwlywé jhwqnpnipni GG6n)
- Wy 6wluutp 4861 1,428,244.9 1,428,244.9 -
7. Gpliwith vGwnpnunihuinbGh 4,096,100.0 4,096,100.0 -
Glpwlwen gduwdplbnh
Gnpngnid(wuwinyhpwlyywé (hwgnpnipynt GG6n)
- Uj) Swiuubn 4861 4,096,100.0 4,096,100.0 -

2470104 | 7 | 0 |Uy plwquywrbbn 145,600.0 145,600.0 -
nphg’

2473\ 04 | 7 | 3 |2pnuwpontpintl 145,600.0 145,600.0 -
wyn pynd’
1. 2pnuuwipponipjul quinquignty 145,600.0 145,600.0 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 7,600.0 7,600.0 -
- Uj) Swiuubn 4861 138,000.0 138,000.0 -

2490104 | 9 | 0 | SGwnbuwlwl hwpwpbpnupintGGEn (wyy (2,715,524.4) 1,178,475.6 (3,894,000.0)
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph (2,715,524 .4) 1,178,475.6 (3,894,000.0)
swwinywlnn)
wyn pyntd’
1. 2pnyG6ph wnbnwnpniy 45,000.0 45,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 45,000.0 45,000.0 -
2. Ugpwlygnipini b hwduylpuyhlG 17,492.0 17,492.0 -
Ywqdwlbpunipini GGERHG
hninwplwynpnipini GGGph h6wn Juwdwé
wiyswp SweuynipintGG6ph dwiwnnigdwla L
qbiptquwluwwnbbph wwhwwlidwl hwdwn
- LOpwghy npwdwbnphbbp wewnwywh L 4637 17,492.0 17,492.0 -
hwdwGptbph ng wrlnpwhG
Juaqiwybpwnipyntbbtnhl
3. Ywpwywnpdwl L wnbnEyundwluwl 180,100.0 168,100.0 12,000.0
wbfulnnghwibnh quipquignid
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 168,100.0 168,100.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- Ng Gynipwywl hhdOwywb shonglbp 5132 12,000.0 - 12,000.0
4. Uowlygnipini b hwiduwylpuyhl b ng 584,083.6 584,083.6 -
hwiwyGpuyhl yuquwlbnwnipini 6G6ph
opwanbnpha
- LdhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 584,083.6 584,083.6 -
Juaqiwybpwnipyntbtphl
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

5. N5 phbwluwluwl wlinhydabph onnwpnidhg (3,921,000.0) - (3,921,000.0)
dnuunpbn
uucunNd ant3eh hPUSNtUhS UNESLEN 8111 (520,000.0) - (520,000.0)
cunrguyuu ank3eh hPusNHUNS UNESLEN 8121 (1,000.0) - (1,000.0)
<N1h hPUSNHUKS UNESLEN 8411 (3,400,000.0) - (3,400,000.0)
6. SnGwlwl dhwynpniy 127,000.0 127,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 87,000.0 87,000.0 -
- Uj) Swiuubn 4861 40,000.0 40,000.0 -
7. <wunwluwqdh Gwfuwwuinpuwundwl b 49,300.0 49,300.0 -
Yuwquidwl upfuuwnulplbn
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 49,300.0 49,300.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
8. Ubnnpniduyhl épwanpbph hppwlyuwlwgnid 148,000.0 148,000.0 -
- SbnGYwunywywl swewjnipyntbbtn 4234 5,000.0 5,000.0 -
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 13,000.0 13,000.0 -
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 130,000.0 130,000.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
9. Nwpwnwnhp YAwnplbph quiGddwl 4,500.0 4,500.0 -
SwpuyntpntGGEN
- SbnGYwunywywl swewjnipyntbbtn 4234 4,500.0 4,500.0 -
10. UpwbdbGwhwnnty wuydwGl6nh Yuphp 15,000.0 - 15,000.0
nLGbgnn wGdwlg hwdwn duinsbhnipiuil
wwwhnyniy
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0
12. <pwnwiyy (niéned wwhwiGgnn plpwighly 35,000.0 35,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 35,000.0 35,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 20,078,198.0 18,922,198.0 1,156,000.0
wyn pynd’

2510105| 1 | 0 |Unpwhwlnu 15,964,315.0 15,319,315.0 645,000.0
nnphg’

2511105| 1 | 1 [UnpwhwOnid 15,964,315.0 15,319,315.0 645,000.0
wyn pynd’
1. UnpwhwiGnipnt 0 L uwlhunwpwiywl 635,000.0 20,000.0 615,000.0
duwpnntd
- Ushgwnuwihb L hwbpwihG ubbnh Ojnebn 4267 20,000.0 20,000.0 -
- GLlpbnh L 2hOneyntGOEnph Yuwwhuwy yepwbnpngned 5113 20,000.0 - 20,000.0
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Puwdhl
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hunuip
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Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

9

- Spwluwnpuwihb uwppwynnpniibbn

5121

305,000.0

305,000.0

- Wy dbpbawobn L uwppwynpniibbp

5129

290,000.0

290,000.0

2. Unpwdninbph uwwuwipydwl b
2hbwnwnwlwl wnph nbnuihnfudwl
SwpuyntpntGGEN

352,136.5

352,136.5

- UndntGwy SwrwjnipnLGbEn

4213

352,136.5

352,136.5

3. Ubpwhwengiwl L qupqugdwl
Gypnuwluib pwilGyh wouwlygnipjuidp
hpwywiwgynn «Gpbwbh Ynywn puhnlGbbph
Ywpwdwpdwiy npwdwGnphuyhl spwaghn
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

521,560.1

521,560.1

- W Swfuubin

4861

521,560.1

521,560.1

4. Gdpnwuilywl GEpnpniduyhl puwllyp
wowlygnt pruwidp hpwluwbwigynn «Gpbwih
Yynywn puihnlGbph Yuewywndwly Spughp
(wunydhpuiyduid (hwqnpnipyni GG6n)

3,046,009.8

3,046,009.8

- W Swfuubin

4861

3,046,009.8

3,046,009.8

5. 6ynnwwlwiG ohnipjuwl hwplwlntpjuwl
GGpnpnduyhl gnpdhph wowlygnipiuwdp
hnwlwiwgynn «Gpbwlh Ynywn puthnblGbph
Ywpwdwpdwiy npwdwGnphuyhl spwaghp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

3,006,892.8

3,006,892.8

- W Swfuubin

4861

3,006,892.8

3,006,892.8

6. UnbLbywl Gypnnwuyp LaEpquifuluynnnipiuil
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnippudp hpwlwluwigynn
«&Gplwlh Ynywn puihnGl6nh Yurpwdwnoway
gpwduwpGnphuyhl spwighp (wuiinyhpwiyywd
[hwqnpnipni GGGR)

751,723.2

751,723.2

- W Swfuubin

4861

751,723.2

751,723.2

7. dbpwlwenigdwl L qupquguwl
Gypnuwluib pwilGyh wouwlygnipjuidp
hnwlwGwagynn «Gplwlh Ynywn punhnGlGEph
Ywpwywnpdwl spwghpy (wwnyhpwlyyws
[hwqnpnipni GGGn)

3,046,009.8

3,046,009.8

- W Swfuubin

4861

3,046,009.8

3,046,009.8

8. «Gpliwilh wnpwhwlnipnia b
uwpunuwpwlul dwpnnidy huduylGpuyhl
hhdGwpyh wwhwwldwa dwiuubn

4,604,982.8

4,574,982.8

30,000.0

- U2uwuinnnGbph wfuwwnwywpdbn L
hwyblwygwnbbp

4111

2,697,760.0

2,697,760.0

- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b
hwuwnniy ygwnbtn

4112

80,932.8

80,932.8

- UndntGwy SwrwjnipnLGbEn

4213

684,000.0

684,000.0

- Ywuwh SwrwjnipnLtGbp

4214

1,000.0

1,000.0

- Uywhnjwgnwywb dwfuutkn

4215

70,000.0

70,000.0
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| 2 nwuwywngiwb hnnqwébbph  wadwbnidabnp =
1 12 1|3 |4 5 6 7 8 9

- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 5,040.0 5,040.0 -
- UpunwuwhdwOwb gnpéninniibbph gény dwjuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swrewjnipyntblbn 4232 600.0 600.0 -
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 5,000.0 5,000.0 -
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 80,000.0 80,000.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwhl Gnipbp L hwgniuwn 4261 12,000.0 12,000.0 -
- Spwluwnpuwihb Gnipkn 4264 900,000.0 900,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 15,000.0 15,000.0 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 20,000.0 20,000.0 -
- Mwpuwnhp y&wpokn 4823 2,650.0 2,650.0 -
- Jwpswywb uwppwynpniitbn 5122 15,000.0 - 15,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 - 5,000.0
- Ng GnLpwlwl hhOGwywb shonglbp 5132 10,000.0 - 10,000.0

2520\ 05| 2 | 0 | Yanuwgnbph hbrwgnid 271,000.0 - 271,000.0
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 271,000.0 - 271,000.0
wyn pynd’
1. Rpwhbrwgdwl YndniGhiwghnl gulgbph 271,000.0 - 271,000.0
Juenignio
- GLlpbnh L 2hOneyntGbBnph urenigned 5112 271,000.0 - 271,000.0

2530|105 | 3 | 0 | Cpowlw showduyph wnwnundwl n&d wuypuwn 38,683.0 38,683.0 -
nnphg’

2531{05| 3 | 1 |Onh wnununiwl nbd wwypwnp 38,683.0 38,683.0 -
wyn pynd’
1. Qbwnbkph hniG6ph dwppnid 38,683.0 38,683.0 -
- UndntGwy SwrwjnipnLGbEGn 4213 38,683.0 38,683.0 -

2560 05| 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 3,804,200.0 3,564,200.0 240,000.0
nwubphl swunluwinn)
nphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubphl 3,804,200.0 3,564,200.0 240,000.0
swwinywlnn)
wyn pynd’
1. Ywlws tnwpwdéplbnh hhulniu L 3,654,700.0 3,414,700.0 240,000.0
wwhwwbntd
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- dwwnnty GwwuinwywihG wyp neptn 4269 14,700.0 14,700.0 -
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 3,400,000.0 3,400,000.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
- GLlpbph L 2hOneyntGbBnph urenigned 5112 240,000.0 - 240,000.0
4. Buhwenn Y&GnwohaE, Gwuwiqbndm d 149,500.0 149,500.0 -
- UntpupnhwGtp ng $howbuwyub wEunwywb 4511 149,500.0 149,500.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2600(06| 0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 5,539,970.0 5,254,164.0 285,806.0

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2610106 | 1 | 0 | PGwlwpwluyhl hGwpwpnipintG 106,862.0 16,862.0 90,000.0
nnphg’

261106 | 1 | 1 |ROwywpwlOwhb 2hGwpwpneentb 106,862.0 16,862.0 90,000.0
wyn pynd’
1. hapGwlwd Jwenyglbnh puwilnntd 5,000.0 5,000.0 -
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
2. 2nppnpn wuwnhAwih Ypwnpuyhl 26Gpkph 11,862.0 11,862.0 -
pwlindwl hGwnbwlpny
plwlywnwpwénipint GGGphg qplywd
plwlhsa6nh Ynndhg Jundwluwywo
plwhwnwlG6ph thnfuhuinnigni d
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 1,782.0 1,782.0 -
- POwywpwOwihb Gwwuwnbbp pinuetihg 4728 10,080.0 10,080.0 -
3. 2nppnpn wuwnhAwih Ypwpuyhl 26Gpkph 90,000.0 - 90,000.0
pwlnntg
- GLlpbnh L 2hOnepyntGbBnph urenigned 5112 90,000.0 - 90,000.0

264006 | 4 | 0 | @nnngltph mtuwynpniy 4,853,621.5 4,753,621.5 100,000.0
nnphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 4,853,621.5 4,753,621.5 100,000.0
wyn pynd’
1. Unwnwphl jniuwiydnpnipyuwil gulgh 100,000.0 - 100,000.0
hhuGwGnpnqnid
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 100,000.0 - 100,000.0
2. Unwnwphl nruwidnpnipyuil guGgh 2,229,951.6 2,229,951.6 -
2whwagnpéiwl b wwhwwldwl
wpfuunnuwiliplbn
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 2,229,951.6 2,229,951.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
3. Ubpwhwengiwl L qupqugdwl 161,577.9 161,577.9 -
Gypnuwwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih pwnwpuyhl
(nLuwynpnipywly npwdwiGnphughlG dpuighp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
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Snnh
Kl
Pwdhh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

8

- W Swfuubin

4861

161,577.9

161,577.9

4. dGpwlwenigdwl b qupquigdwl
Gypnuwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih punwpuyhl
(nruwynpnipjuly dpwghp (wwinyhpwyywo
[hwqnpnipni GG6R)

1,774,495.1

1,774,495.1

- W Swfuubin

4861

1,774,495.1

1,774,495.1

5. UnbLbywl Gypnwuyp LaEpquifuluynnnipjuil
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnipudp hpwlwluwigynn
«GpLwlh pwnwpuyhl (niuwynpntpuwly
gpwduwpGnphuyhl spwighp (wuiinyhpwiyywd
[hwqnpnipni GGGn)

587,596.9

587,596.9

- W Swfuubin

4861

587,596.9

587,596.9

2650

06

PlOwhwnwluyhl ;hbwpwpnipywl b YndnGuy
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn

12,000.0

12,000.0

nnhg’

2651

06

POwywpwlwh0 2hGwpwnnipjwb L YndntGuwy
SwrwjnLpntbbbph gény hunwgnunwywb L
Owfuwgéwihb wpfuwwnwbpltbn

12,000.0

12,000.0

wyn pynd’

1. Chlpkph L 2hGnipint GGEpH hGunwgnindwl
wpfuunnuwiliplbn

12,000.0

12,000.0

- LwjuwgswhbGunwgnunwywb dwfuubkn

5134

12,000.0

12,000.0

2660

06

PlOwhwnwluyhl ;hbwpwpnipyw b YndnGuy
SweuynipyntGGEn (wy nwubphl swwnlwbnn)

567,486.5

483,680.5

83,806.0

nnhg’

2661

06

POwywpwOwhb 2hGwpwnnipjwb L YndntGuwy
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)

567,486.5

483,680.5

83,806.0

wyn pynd’

3. Puwluyhl trnwpwoéplbnh b
fuwnuwhpwwwpuwlGbnh hhdGwlnpngnid nt
wwhwwbniy

58,806.0

58,806.0

- Wy dbpbawobn L uwppwynpniibbp

5129

58,806.0

58,806.0

4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla
wyy wipfuunnuwliplbn

35,000.0

10,000.0

25,000.0

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b
wwhwwlntd

4251

10,000.0

10,000.0

- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned

5113

20,000.0

20,000.0

- Wy dbpbawobn L uwppwynpniibbp

5129

5,000.0

5,000.0

5. 2puyhl Ywenyglbph jwhwagnpdnid L
wwhwwbniy

280,000.0

280,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Uj) Swiuubn 4861 280,000.0 280,000.0 -
6. Ywpuwyunlbph wwhuwwing 13,680.5 13,680.5 -
- LOpwghYy npwidwbnphbbp wewnwywb L 4638 13,680.5 13,680.5 -
hwdiwjopwiht wrluinpwiht YuwqdwytpwneentGabnph
7. YudwipnwiGgnidltph b wyy 2hlnipni GGEpH 180,000.0 180,000.0 -
Ybpwianpnqnid L gnibwqupnnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 180,000.0 180,000.0 -
wwhwwlntd

2700(07|0 | O unnaaunu<nt@3Ntu 465,850.0 13,250.0 452,600.0
wyn pynd’

2710107 | 1 | 0 | Adoyuwlwl wynwplbn, uwnpbn L 202,600.0 - 202,600.0
vwppwynpnidlabn
nphg’

271107 | 1 | 1 |Ynwgnpéwywl wwpwbplbn 202,600.0 - 202,600.0
wyn pynid’
1. Upnnowwwhwluwl Juqiwlbnwnipini GG6ph 202,600.0 - 202,600.0
hwdwn pdo)ywlwl uwppwynpnidbbnh
dbrppbpnid
- Wy dbpbawobn L uwppwynpniibbp 5129 202,600.0 - 202,600.0

2760|107 | 6 | 0 | Urnnowwwhnipynil (wy; nwubphG 263,250.0 13,250.0 250,000.0
swunnlyuilinn)
nnphg’

2761|/07 | 6 | 1 |Urnnowwwhwywl hwpwyhg swrwjnipntGbtn L 263,250.0 13,250.0 250,000.0
Spwgntin
wyn pyntd’
1. Upnnowuwwhwluwil opibyinGlph 250,000.0 - 250,000.0
hhuGwGnpnqnid
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 250,000.0 - 250,000.0
2. Ndquwnpwdunnsbh hbirnwgnunnipyni GGGph 13,250.0 13,250.0 -
hpwlwlbuwgntd
- Uwulwghunwyw swrwjnipntGbn 4241 13,250.0 13,250.0 -

2800(08| 0 | O <Uuahus, ucuuntse by urnu 2,660,546.2 2,330,546.2 330,000.0
wyn pynd’

2810\ 08 | 1 | 0 | <wlquunh L uynpnh dweuyntpntGlbn 497,500.0 167,500.0 330,000.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 497,500.0 167,500.0 330,000.0
wyn pynd’
1. Uynpwnuyhlb dhonguientuGbph 78,000.0 78,000.0 -
Yuqdwlbpnwnid
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 78,000.0 78,000.0 -
2. Lwliquinh gninhlG6nph L qpnuuyghlbph 370,000.0 40,000.0 330,000.0
Ywenigmid n wwhwwlnid
- EGGpgbuinhy swrwynipnLbGbp 4212 30,000.0 30,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 10,000.0 10,000.0 -
- GLlpbnh L 2hOneyntGbBnph urenigned 5112 300,000.0 - 300,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 30,000.0 - 30,000.0
3. LGéwhywhpwwuwinwlp ;whwqnpéntd 49,500.0 49,500.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 49,500.0 49,500.0 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipintGGGn 2,153,646.6 2,153,646.6 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 261,975.9 261,975.9 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 261,975.9 261,975.9 -
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 261,975.9 261,975.9 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

282208 | 2 | 2 |BwlOgwpw(Gtp L gniguwupwhObn 317,915.7 317,915.7 -
wyn pynid’
1. Pwlqupwluyhl dwewynipintGG6n L 317,915.7 317,9156.7 -
gnigwhwGnbulbbn
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 317,915.7 317,915.7 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebunpnbGep 40,139.3 40,139.3 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 40,139.3 40,139.3 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 40,139.3 40,139.3 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyntGbkn 955,909.2 955,909.2 -
wyn pynd’
1. Vpwiynipuyhl dhonquenidlabnh 653,500.0 653,500.0 -
hpwlwlbuwgntd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 639,500.0 639,500.0 -
- LuhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 14,000.0 14,000.0 -
Juaqiwybpwnipyntbtphl
2. Ybhnwlwpwlwlwl wyqnt 302,409.2 302,409.2 -

gniqunpnipinLGG6n
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 302,409.2 302,409.2 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2825/08| 2 | 5 |UpyLuwn 572,706.5 572,706.5 -
wyn pynLd’
1. Gpwdrunuwpybuinh b wwpwnpybuwnh 136,806.4 136,806.4 -
hwdbnqlbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 136,806.4 136,806.4 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
2. Pwwnbpwlwi GGpYyuywignivGEn 435,900.1 435,900.1 -
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 435,900.1 435,900.1 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2827|08 | 2 | 7 |<nipwupdwbbEph L dwynipwihb wndtplbph 5,000.0 5,000.0 -
ybpwywbglnid L wwhwwnid
wyn pyntd’
1. <nipwndwllbbnh Yepwlnpngnid L 5,000.0 5,000.0 -
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2840/08 | 4 | 0 | Ypnbwlwl b hwuwpwlwlwl wyy 9,399.6 9,399.6 -
SweuyntpynLGGEN
nnphg’

2843|08 | 4 | 3 |UpnGwywl L hwuwpwywywb wy SwewntpinLGGep 9,399.6 9,399.6 -
wyn pyntd’
1. UbGnwdwlgnipyul Yswnbbn 9,399.6 9,399.6 -
- LuhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 9,399.6 9,399.6 -
Juaqiwybpwnipyntbtphl

2900(09|0 | O uPENH33NHL 21,868,235.9 19,041,289.6 2,826,946.3
wyn pynid’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 7,547,159.8 7,397,159.8 160,000.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 393,374.9 243,374.9 150,000.0
wyn pynd’
1. Lwfuwi nquluwl niunignid 158,553.2 158,553.2 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 156,553.2 156,553.2 -
(hwiwybtpwih0) Yuwgiwytpwnipjntbbbph
2. Lwfuw nquiywl ntuntguwl 200,000.0 50,000.0 150,000.0

Luquwlbnwdwl hwdwnp wohpwdtw gniyph
dbrp pbpnid
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- dwwnnty GwwuinwywihG wyp neptn 4269 50,000.0 50,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 150,000.0 - 150,000.0
3. Lwifuw ngquljuw nLpnLa 34,821.7 34,821.7 -
(wuwnydhpuiyduid (hwqnpnipyni GG6n)
- UntpuhnhwGtp ng $hOwbuwywl wnwywh 4511 34,821.7 34,821.7 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2912|109 | 1 | 2 |Swppwywhb pGnhwbnip Ypenipntd 7,153,784.9 7,153,784.9 -
wyn pynd’
1. <wlpwyppwlywl niunignty 7,153,784.9 7,163,784.9 -
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 7,153,784.9 7,153,784.9 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2920|109 | 2 | 0 |UhoGwlwnq pGnhwlnin Yppnipinc 10,478,077.7 10,478,077.7 -
nnphg’

292109 | 2 | 1 |<hdGwlwb pGnhwanip Yppnepintl 10,122,376.5 10,122,376.5 -
wyn pyntd’
1. <wlpwyppwlywl niunignty 10,122,376.5 10,122,376.5 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 10,122,376.5 10,122,376.5 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2922|109 | 2 | 2 |UhoGwywng (\phd) pGnhwGnip Yppnipintl 355,701.2 355,701.2 -
wyn pynid’
1. <wlpwyppwlwl ntunigntd 355,701.2 355,701.2 -
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 355,701.2 355,701.2 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950109 | 5 | 0 | Luwn dwlhwpnwlbbph snwuwluwnpgynn 1,209,836.2 1,079,889.9 129,946.3
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 1,209,836.2 1,079,889.9 129,946.3
wyn pynd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 921,983.4 921,983.4 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 62,595.8 62,595.8 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 859,387.6 859,387.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
2. Upunwnupnguiljuil 80,000.0 - 80,000.0
Yuwqdwlbpunipni 6G6pH hwdwp wihpuidbn
qnyph dbep papnid
- Wy dbpbawobn L uwppwynpniibbp 5129 80,000.0 - 80,000.0
3. «<wiynp Ynomywily Yppwhwduwyhn MNUY- 7,547.8 7.547.8 -

nLd wpunw ngqwywl nuuwnhwnpwlynt pjuwl
Ywqiwlybpuwnd (wuwnyhpwlywo

[hwqnpnipni GGGn)
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 7,547.8 7,547.8 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
4. Gpwdyunwluwl L wpdbuinh nupngbbpntd 142,358.7 142,358.7 -
wqquihl jupughl b thnnuyhl GywquipnwGb&nh
qény ntunignid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 142,358.7 142,358.7 -
5. Upunwnupngwluwl 57,946.3 8,000.0 49,946.3
Ywquiwlbnuwnipint 6GGph hhdGwlnpngnid L
YGpwlnpngniy
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwlntd
- GLlpbph L 2hOneyniGbEnph Yuwwhuwy yepwbnpngned 5113 49,946.3 - 49,946.3

296009 | 6 | 0 | Uppupiwlp wnpwdwnnynn odwlnwly 2,633,162.2 86,162.2 2,547,000.0
SweuyntpynLGGEN
nnphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy Swrwinipntbbtn 2,633,162.2 86,162.2 2,547,000.0
wyn pyntd’
1. Lwfuwi ngqulwl hwuwnunni pint GGG, 2,5647,000.0 - 2,5647,000.0
hhdGwbGnpngnid L YGpwlnpngnid
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 2,547,000.0 - 2,547,000.0
2. Mypnguljubabph ojhdwhwnuwiGlph b w 48,500.0 48,500.0 -
Uhongquipm dG6nh uquwlbnuni g
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 48,500.0 48,500.0 -
3. Uwnnbuwnwynpiwl dhongny npwlwiynpnid 37,662.2 37,662.2 -
utnuwiguid niunighsG6phG huybywyAwiplbph
wpwdwnand (wuindppuldws
[hwqnpnipni GGGR)
- LOpwghy npwdwbnphbbp wewnwywb L 4637 37,662.2 37,662.2 -
hwdwyGpltbph ng wrlunpwhG
Juaqiwybpwnipyntbbtnhl

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 1,181,990.5 1,181,990.5 -
wyn pynd’

3070|110 | 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGaGR (wyy 263,700.0 263,700.0 -
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 263,700.0 263,700.0 -
nuwubpht swywunywbnn)
wyn pynd’
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 116,700.0 116,700.0 -
wnnlwlulb b hhpuinwlyh opbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 4,000.0 4,000.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- dwwnnty GwwuinwywihG wyp neptn 4269 98,000.0 98,000.0 -
- W Gwwuinbbp pinuobihg 4729 14,700.0 14,700.0 -
4. Unghwywiwbu wiwwwhny wadwlg 102,000.0 102,000.0 -
wowlgnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 40,000.0 40,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 10,000.0 10,000.0 -
- W Gwwuinbbp pinuobihg 4729 52,000.0 52,000.0 -
5. <wuwnpwlwlwl yuwqdwlybpunipini GGGpAG 45,000.0 45,000.0 -
wowlgnipint G
- LuhpwuwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 45,000.0 45,000.0 -
Juaqiwybpwnipyntbbephl

309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 918,290.5 918,290.5 -
nwubphl swunluwinn)
nnphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpudwnnpynn 918,290.5 918,290.5 -
odwlnwy dwrwnipintbbtn (wj) nwutphl
swwinywlnn)
wyn pynid’
1. MGwnwluwl hhdGwplbbph L 694,595.5 694,595.5 -
Ywquiwlbnuwnipint 6G6ph wfuwnnnbbph
unghuwywlwl thwpbeny wwwhnynid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- W Gwwuinbbp pinuobihg 4729 694,595.5 694,595.5 -
2. Upnnonipywl wwwhnywaqnpnipint G 178,695.0 178,695.0 -
- Uywhnjwgnpwywb dwfuubin 4215 178,695.0 178,695.0 -
3. Wluwnwyuqih wpfuunnnnGbph 45,000.0 45,000.0 -
unghuwywlwl thuwpbeny wwwhnynid
- W Gwwuinbbp pinuobihg 4729 45,000.0 45,000.0 -

3100{11|0 | O <hULuUyuL PUGhLLENPL 2UUYNN 10,447,241.0 9,328,174.6 1,119,066.4

nuULNFUSU3hL dNuIEN

wyn pynid’

3110111 | 1 | 0 | << qurwdwpnipywi b hwiduylGplbph 10,447,241.0 9,328,174.6 1,119,066.4
wwhnruwnuyhl pnln
nnphg’

311211 ] 1 | 2 | << hwdwyGpltph wwhnunwihG $nln 10,447,241.0 9,328,174.6 1,119,066.4
wyn pynd’
- MwhntunwhlG dhengbn 4891 10,447,241.0 9,328,174.6 1,119,066.4
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Uryntuwy 2

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
uauou3uy JduNr2uvuu crRULh yuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| € E3h pintobiunwhl swiuutiph nbnbuwghunwywl == Jwnswyw pinet | $nlnwihb pniob
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 2,848,326.9 2,608,326.9 240,000.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 459,763.5 452,763.5 7,000.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 443,292.2 439,292.2 4,000.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 443,292.2 439,292.2 4,000.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 438,292.2 434,292.2 4,000.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 302,185.0 302,185.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 92,980.0 92,980.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 8,698.4 8,698.4 -
- UndntGwy SwrwjnipnLGbEn 4213 711.8 711.8 -
- Ywuwh SwrwjnipnLtGbp 4214 6,436.0 6,436.0 -
- Uywhnjwgnwywb dwfuutkn 4215 210.0 210.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 300.0 300.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 323.0 323.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 164.0 164.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 300.0 300.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 4,000.0 4,000.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 3,000.0 3,000.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 9,840.0 9,840.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 1,000.0 1,000.0 -
- Mwpunwnhp y&wpobn 4823 144.0 144.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 4,000.0 - 4,000.0
2. dwpswlwlb opybyinlGbph hhdGwlnpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip pGnyph SweuynipntGGEn 11,471.3 11,471.3 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,4713 -
SwrwjnLpnLblGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,471.3 -
qnuibguwl dweuyntpiwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 10,271.3 10,271.3 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGep 4212 500.0 500.0 -
- UndntGwy SwrwjnipnLGbEn 4213 40.0 40.0 -
- Ywuwh SwrwjnipnLtGbp 4214 60.0 60.0 -
- Ywnswywl Swewinipntbbtn 4231 90.0 90.0 -
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 100.0 100.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 300.0 300.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 100.0 100.0 -
- Mwpunwnhp y&wpokn 4823 10.0 10.0 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 3,000.0 - 3,000.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 3,000.0 - 3,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwfuutkn 5134 3,000.0 - 3,000.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,000.0 2,000.0 -
SweuynipnLGG6n (wy nwubphl swwinluwlnn)
nnphg’
2161|/01| 6 | 1 |CGnhwGntp pGnyph hwGpwihb SwrewjnipntGOGn (wy 2,000.0 2,000.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 1,000.0 1,000.0 -
npnnidG6ph b YAahrGbph nbd Ypwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplG&ph 1,000.0 1,000.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Ywwywé Jawpnidlbn
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2200(02|0 | 0 nuUcSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynid’
2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuwwnlwlng) 2,000.0 2,000.0 -
nnphg’
2251|102 5 | 1 [Mwaunwwnipntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
2400(04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 302,069.4 189,069.4 113,000.0
wyn pynd’
2420|104 | 2 | O | Ynuquinbuwnbunipnt G, wiwnweuyhl 25,000.0 - 25,000.0
wnbwnbunipinil, dyGnpunipintl b
npunpnnip/nLi
nnphg’
2424104 | 2 | 4 |Nengniy 25,000.0 - 25,000.0
wyn pynd’
1. Nenquwl gquiGgh Yuenignid L 25,000.0 - 25,000.0
YGpwlnpngniy
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 25,000.0 - 25,000.0
2450104 | 5 | 0 | Spwluwnpwn 242,789.0 154,789.0 88,000.0
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

nwuwywpgiwb hnnywébbnph  wadwbnuibbpp
a| 2 Yunquwb hnnYwébtnph  wowanuiob =
1 1213 |4 5 6 7 8 9

2451| 04 1 | Bwlwwwphwih( npwluwnpun 217,789.0 154,789.0 63,000.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 117,940.0 117,940.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 117,940.0 117,940.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 31,094.0 31,094.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 31,094.0 31,094.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 53,755.0 5,755.0 48,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 5,755.0 5,755.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 48,000.0 - 48,000.0
13. ®nnnglbph, hpwwwpwlybbnh L uyghbbph 15,000.0 - 15,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 25,000.0 - 25,000.0
wyn pynid’
1. dbpbjwlyGbph hhvGwlnpngntd 25,000.0 - 25,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 25,000.0 - 25,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 34,280.4 34,280.4 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph 34,280.4 34,280.4 -
swwinywann)
wyn pynd’
9. Nwpwnwnhp YAwnplbph quiGddwl 4,195.4 4,195.4 -
SwpuyntpntGGEN
- LdhpwuwnynipntbGbp wy pwhniye shGunwwGnnn 4819 4,195.4 4,195.4 -
Juaqiwybpwnipyntbbtnhl
11. SnGwywiswrbbph Juqdwlbnund 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niéned wwhwiGgnn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL B4 301,500.0 181,500.0 120,000.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

63




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 301,500.0 181,500.0 120,000.0
SweuynipyntGGEn (wy nwubphl swwnluwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipjwb L Yndntbuwg 301,500.0 181,500.0 120,000.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwpbwlwnwl 26Gpaph hwipp 20,000.0 20,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd
2. Pwquiwplwlwnwl 26Gpbph pbp 45,000.0 45,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 45,000.0 45,000.0 -
3. Pwiluyhl tnwpwéplbnh b 150,000.0 30,000.0 120,000.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGbBnph urenigned 5112 120,000.0 - 120,000.0
4. Puquwplwluwnwl 26Gpbph punbiwnquwl 80,000.0 80,000.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 60,000.0 60,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 20,000.0 20,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 6,500.0 6,500.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 6,500.0 6,500.0 -
wwhwwlntd

2800/08| 0 | O <Uuahus, ucuuntse by urnu 236,027.4 236,027.4 -
wyn pynd’

2810108 | 1 | 0 |<wlquwnh L uynpinh SweuynipintGGGn 15,000.0 15,000.0 -
nnphg’

281108 | 1 | 1 |<wlOquunh L uwynpuinh SwrwjnipnttGbp 15,000.0 15,000.0 -
wyn pynd’
1. Uynpunuyhl dhonquienidabnh 5,000.0 5,000.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,000.0 5,000.0 -
2. L<wliquinh gninhlG6nph L gpnuuyghlGbph 10,000.0 10,000.0 -
Ywenigmid n wwhwwlnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2820| 08 0 |Vpwynipuyhl swruynipiniGaGeGn 221,027.4 221,027.4
nnphg’

2821(08 | 2 | 1 |Qpwnwpwdlbn 71,000.7 71,000.7
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 71,000.7 71,000.7
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 71,000.7 71,000.7
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynitdpbtn, YebunpnbGep 112,135.8 112,135.8
wyn pynd’
1. <wduylpuyhl dywlynyph b wquin dwdwlgh 112,135.8 112,135.8
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 112,135.8 112,135.8
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyntGbkn 24,246.0 24,246.0
wyn pyntd’
1. Vpwiynipuyhl dhonguientuGbph 24,246.0 24,246.0
hpwlwlbuwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 20,000.0 20,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 4,246.0 4,246.0

2825/ 08| 2 | 5 |Upytuwnn 13,644.9 13,644.9
wyn pyntd’
1. Gpuwdrunwnybuwnh L wwpuwnybuinp 13,644.9 13,644.9
hwdbnqlbn
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 13,644.9 13,644.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2900(09|0 | O urPENH33NHL 1,412,919.8 1,412,919.8
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlywl b tnwppwlwl pGnhwGnip 1,125,031.2 1,125,031.2
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,125,031.2 1,125,031.2
wyn pynd’
1. Lwfuwi nquluwl niunignid 1,125,031.2 1,125,031.2
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 1,125,031.2 1,125,031.2
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 287,888.6 287,888.6
Uppnipyntl
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2951| 09 1 |Upunwnwpngwywb nwuunhwpwyntpntl 287,888.6 287,888.6
wyn pynd’
1. Upwnw ngqwlwl nuuwnhwnpwlynipintG 287,888.6 287,888.6
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 287,888.6 287,888.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 134,046.8 134,046.8
wyn pynd’

3070/10| 7 | O |Unghwjwlwl hunnny wpwnnGnipiniGGGn (wyy 38,170.0 38,170.0
nwubphl swunluwinn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 38,170.0 38,170.0
nwubphb swywunywbnn)
wyn pyntd’
2. <wpwquiin sniabgnn wadwag b 4,500.0 4,500.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,500.0 4,500.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 25,350.0 25,350.0
wnnlwlulb b hhpuinwlh opbphlG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,600.0 5,600.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 16,750.0 16,750.0
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 3,000.0 3,000.0
4. Unghwjwuwbu wiwwwhny widwlg 8,320.0 8,320.0
wowlgnipint G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 4,320.0 4,320.0
- W Gwwuinbbp pinuobihg 4729 4,000.0 4,000.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 95,876.8 95,876.8
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 35,741.8 35,741.8
swwinywlnn)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 35,741.8 35,741.8
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwunnnGbph w2fuwwnwywpdbn L 4111 35,025.1 35,025.1
hwyblwygwnbbp
- Ywuwh SwrwjnipnLtGbp 4214 350.0 350.0
- Qpwubwyuwh Gnipbp L hwgniuwn 4261 316.7 316.7
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 50.0 50.0

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnnpynn 60,135.0 60,135.0
odwlnwy dwrwnipyntbbtn (wj; nwukphl
swwinywann)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 60,135.0 60,135.0
- Uywhnjwgnwywb dwfuutkn 4215 60,135.0 60,135.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt

2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Unyniuwy 3

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
udyuu Jyun2uuyuu crauuh vuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 1,336,021.8 1,249,321.8 86,700.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 381,496.9 375,296.9 6,200.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 370,423.6 367,423.6 3,000.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 370,423.6 367,423.6 3,000.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 365,423.6 362,423.6 3,000.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 241,839.0 241,839.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 74,412.0 74,412.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 15,525.6 15,525.6 -
- UndntGwy SwrwjnipnLGbEn 4213 1,000.0 1,000.0 -
- Ywuwh SwrwjnipnLtGbp 4214 7,400.0 7,400.0 -
- Uywhnjwgnwywb dwfuutkn 4215 310.0 310.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 180.0 180.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 3,500.0 3,500.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 2,667.0 2,667.0 -
- Spwluwnpuwihb Gnipkn 4264 9,840.0 9,840.0 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 1,500.0 1,500.0 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 1,000.0 1,000.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Mwpunwnhp y&wpokn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 3,000.0 - 3,000.0
2. dwpswlwlb opybyinlGlph hhdGwlnpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip pGnyph SweuynipntGGEn 7,473.3 6,273.3 1,200.0
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 7,473.3 6,273.3 1,200.0
SwrwjnLpnLblEn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 7,473.3 6,273.3 1,200.0
qnuibguwl dweuyntpiwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwé
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 5,072.6 5,072.6 -
hwyblwygwnbbp
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 300.0 300.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 450.7 450.7 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 450.0 450.0 -
- Jwpswywb uwppwynpniibbn 5122 1,200.0 - 1,200.0

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 2,000.0 - 2,000.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

215101 | 5 | 1 [CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 2,000.0 - 2,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 2,000.0 - 2,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 2,000.0 - 2,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,600.0 1,600.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,600.0 1,600.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnnwpuiGh 1,000.0 1,000.0 -
npnnidGbph b YAahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn

69




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 600.0 600.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGEn
- Mwpuwnhp y&wpokn 4823 600.0 600.0 -

2200/02|0 | 0 nuUCSMULNHB3NFL 2,500.0 2,500.0 -
wyn pynd’

2220|102 | 2 | 0 | Pwnwpuwghwluwl wwywnwwbnipintG 1,000.0 1,000.0 -
nnphg’

2221|102 | 2 | 1 |Pwnwpwghwywl wwwnwwantpntl 1,000.0 1,000.0 -
wyn pynd’
1. Pwnwpwghwluwl wwpwnwuwlbnpjull 1,000.0 1,000.0 -
wowlgnipint G
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 1,000.0 1,000.0 -

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuwwnlwlng) 1,500.0 1,500.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwnipntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 1,500.0 1,500.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSEUUUUL <UnurtMPNHa3NFLLGN 102,437.0 87,437.0 15,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 89,852.0 74,852.0 15,000.0
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnun 74,852.0 74,852.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 72,270.0 72,270.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 72,270.0 72,270.0 -
wwhwwlntd
8. UwynninhlG6ph L thnnnglbph 2,682.0 2,582.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,582.0 2,582.0 -
wwhwwlntd

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 15,000.0 - 15,000.0

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

nwuwywpgiwb hnnywébbnph  wadwbnuibbpp
a| 2 Yunquwb hnnYwébtnph  wowanuiob =
1 1213 |4 5 6 7 8 9

1. dbpbjwlyGbph hhvGwlnpngntd 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 12,585.0 12,585.0 -
nwubphl swunnluwbnn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 12,585.0 12,585.0 -
swwinywann)
wyn pynd’
9. Nwpwnwnhp YAwnplbph quiGddwl 2,500.0 2,500.0 -
SwpuyntpntGGEN
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 2,500.0 2,500.0 -
Juaqiwybpwnipyntbbtnhl
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 10,000.0 10,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 157,667.0 92,167.0 65,500.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipyul L YndntGuy 157,667.0 92,167.0 65,500.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 157,667.0 92,167.0 65,500.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwiquwplwlwnwl 26Gpaph hwipp 22,000.0 22,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 22,000.0 22,000.0 -
wwhwwlntd
2. PuquiwpGulywnuwl 26Gp6nh plip 50,500.0 - 50,500.0
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 50,500.0 - 50,500.0
3. Pwluyhl tnwpwoéplbnh b 35,000.0 20,000.0 15,000.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- <wwnnty GwwuinwywihG wy Gneptn 4269 10,000.0 10,000.0 -
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 15,000.0 - 15,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

4. Puquwplwluwnwl 26Gpbph punbiwnquwl 48,000.0 48,000.0
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 48,000.0 48,000.0
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 2,167.0 2,167.0
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,167.0 2,167.0
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 63,853.2 63,853.2
wyn pynLd’

2810\ 08 | 1 | 0 | <wlquunh L uynpnh dweuyntpntGlbn 3,000.0 3,000.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 3,000.0 3,000.0
wyn pyntd’
1. Uynpwnuyhlb dhonguientuGbph 3,000.0 3,000.0
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,000.0 3,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 60,853.2 60,853.2
nnphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 10,770.6 10,770.6
wyn pynid’
1. Qpuinwpwluyhl SweuyntpntGGEN 10,770.6 10,770.6
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 10,770.6 10,770.6
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGep 18,852.6 18,852.6
wyn pynid’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 18,852.6 18,852.6
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 18,852.6 18,852.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 31,230.0 31,230.0
wyn pynd’
1. Vpwiynipuyhl dhonguientuGbph 31,230.0 31,230.0
hpwlwlbuwgntd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 29,030.0 29,030.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,200.0 2,200.0

2900(09|0 | O urPENH33NHL 567,178.4 567,178.4

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 393,840.0 393,840.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwjuwnwpngwywb Ynppnepinta 393,840.0 393,840.0
wyn pynd’
1. Lwfuwi nquluwl niunignid 393,840.0 393,840.0
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 393,840.0 393,840.0
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 173,338.4 173,338.4
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 173,338.4 173,338.4
wyn pyntd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 173,338.4 173,338.4
- Untpuhnhwtp ng $hOwbuwywl wenwywh 4511 173,338.4 173,338.4
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 60,889.3 60,889.3
wyn pynid’

3070/10| 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGGn (wyy 20,800.0 20,800.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 20,800.0 20,800.0
nuwubpht swywunywbnn)
wyn pyntd’
2. <wpwquiin sniabgnn wadwag b 2,000.0 2,000.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 13,800.0 13,800.0
wnbwlwl L hhywwnwlh opbphl wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,000.0 3,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 5,800.0 5,800.0
- <wwnnty GwwuinwywihG wy Gneptn 4269 5,000.0 5,000.0
4. Unghwjwuwbu wiwwwhny widwlg 5,000.0 5,000.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 5,000.0 5,000.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 40,089.3 40,089.3
nwubphl swunluwbnn)
nnphg’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
3091| 10 1 |Unghwjwywl wwwnwwbnipntb (wy nwubnphl 14,553.3 14,553.3
swwinywlnn)
wyn pynd’
1. Unghwywlwl oqlnipjwl dweuyntpintGG6nH 14,5653.3 14,5653.3
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 14,191.0 14,191.0
hwyblwygwnbbp
- Qpwubywyuwhl Gnipbp L hwgniuwn 4261 116.3 116.3
- Spwluwnpuwihb Gnipkn 4264 246.0 246.0
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 25,536.0 25,536.0
odwlnwy dwrwnipyntbbtn (wjp nwubphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 25,636.0 25,636.0
- Uywhnjwgnwywb dwfuubin 4215 25,536.0 25,536.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Unyniuwy 4

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
ufupyhp, JuM2uuuu crRULh yuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,763,078.5 2,455,333.0 307,745.5
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 647,831.9 638,411.4 9,420.5
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 627,560.6 624,140.1 3,420.5
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 627,560.6 624,140.1 3,420.5
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 623,560.6 620,140.1 3,420.5
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 417,040.0 417,040.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 128,320.0 128,320.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 30,930.0 30,930.0 -
- UndntGwy SwrwjnipnLGbEn 4213 810.0 810.0 -
- Ywuwh SwrwjnipnLtGbp 4214 6,080.2 6,080.2 -
- Uywhnjwgnwywb dwfuutkn 4215 200.0 200.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 280.0 280.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 396.0 396.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 240.0 240.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 90.0 90.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 1,813.0 1,813.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 7,200.0 7,200.0 -

Gnpngntd b wwhwwGnid
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Qpwublwyuwh Gnipbp L hwgniuwn 4261 3,505.0 3,505.0 -
- Spwluwnpuwihb Gnipkn 4264 15,517.9 15,517.9 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 1,588.0 1,588.0 -
- Mwpunwnhp y&wpokn 4823 130.0 130.0 -
- Uj) Swiuubn 4861 4,000.0 4,000.0 -
- Jwpswywb uwppwynpniitbn 5122 3,420.5 - 3,420.5
2. dwpswlwlb opybyinlGlnh hhdGwlnpngnid 4,000.0 4,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph Sweuynipint GGG 11,471.3 11,471.3 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,471.3 -
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,471.3 -
qnuibguwl Sweuyntpiuwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 10,384.0 10,384.0 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGbn 4212 450.0 450.0 -
- UndntGwy SwrwjnipnLGbEn 4213 10.0 10.0 -
- Ywuwh SwrwjnipnLtGbp 4214 275.0 275.0 -
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 100.0 100.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 152.3 152.3 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 100.0 100.0 -

2150101 | 5 | 0 |2anhwGnip pGnyph hwapuyhl 6,000.0 - 6,000.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 6,000.0 - 6,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 6,000.0 - 6,000.0
- LwjuwgswhbGunwgnunwywb dwfuubkn 5134 6,000.0 - 6,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,800.0 2,800.0 -

SweuynipnLGGEn (wy nwubphl swwinluwlnn)

nnhg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

216101 1 [CGnhwGntp pGnyph hwpwihG swrwjnienLGbGEn (wy 2,800.0 2,800.0 -
nuwubphb swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 2,000.0 2,000.0 -
npnnidGbph b YAahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 2,000.0 2,000.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 800.0 800.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 800.0 800.0 -

2200/02|/0 | O nuUcSMULNHB3NFL 2,000.0 2,000.0 -
wyn pyntd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynd’
1. 2hGwwwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Jupdwlul huyuiplabnh
Yuquwlbpwdwlo wowlygnipint o
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSGEUULUL <UrurtMPNt@3NFLLEN 226,644.6 206,644.6 20,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 186,559.6 166,559.6 20,000.0
nnphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 unnpwbuwnnun 166,491.0 166,491.0 -
wyn pynid’
1. Uupwyin-pbinnlyu swdyh Jbpwbnpngnid 127,770.0 127,770.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 127,770.0 127,770.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
7. <pwiqnuil Yhnsh pupblywipgnid 5,000.0 5,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 3,000.0 3,000.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

8. Uuwypninhlbnh L thnnnglbnh 4,221.0 4,221.0 -
Ybpwlwenigniu L hhdGwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 4,221.0 4,221.0 -
wwhwwlntd
9. ®nnnglbiph wwhwwlnid &Y ;whwagnpéntd 19,500.0 19,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 19,500.0 19,500.0 -
wwhwwlntd

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 20,068.6 68.6 20,000.0
wyn pynLd’
1. dbpbjwlyGbph hhoGwlnpngntd 20,068.6 68.6 20,000.0
- Uwubwghunwyw swrwjnipntGbtn 4241 68.6 68.6 -
- Wy dbpbawobp L uwppwynpniibbp 5129 20,000.0 - 20,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 40,085.0 40,085.0 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwpwpbnnigntbbbp (w) nwubph 40,085.0 40,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbnund 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niéned wwhwiGgnn plpwighly 40,000.0 40,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 40,000.0 40,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNh mucsmuLNi@3Ntu 15,320.0 7,320.0 8,000.0
wyn pynd’

2520105 | 2 | 0 | Ybnuwonbnh hGrwgntd 3,000.0 - 3,000.0
nnphg’

2521|/05| 2 | 1 |Ybnuwoentph hbrwgntd 3,000.0 - 3,000.0
wyn pynd’
1. Bpwhbrwgdwl YndniGhywghnl gulgbph 3,000.0 - 3,000.0
Yupnigniy
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 3,000.0 - 3,000.0

2560 05| 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 12,320.0 7,320.0 5,000.0
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubphl 12,320.0 7,320.0 5,000.0

swwinywann)

wyn pynd’
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

- = g 3 Guwjh( Swiuubph nGunbuwghnwywa = nuatin q anwiht

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2. UfunnwhwGowl b dhounnwqbpdédwl 4,920.0 4,920.0 -
Swipuynipynt (G6p /nbrunnhquighu
- UndntGwy SwrwjnipnLGbEn 4213 4,920.0 4,920.0 -
3. <wuwnwluwlwl gniquipwlbbbph 7,400.0 2,400.0 5,000.0
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 2,400.0 2,400.0 -
- GLlpbph L 2hOneyntGGBnph urenigned 5112 5,000.0 - 5,000.0

2600/06|0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 460,991.0 208,666.0 252,325.0

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2640|06 | 4 | 0 | @nnnghtiph (ntuwynpniy 15,000.0 15,000.0 -
nnphg’

2641|/06 | 4 | 1 |®Onnnglbph |ntuwynpnid 15,000.0 15,000.0 -
wyn pynd’
2. Upunwphl jniuwynpnippuwl guilgh 15,000.0 15,000.0 -
2whwagnpéiwl b wwhwwldwl
wpfuunnuwiliplbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 15,000.0 15,000.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipyul L YndntGuy 445,991.0 193,666.0 252,325.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 445,991.0 193,666.0 252,325.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pyntd’
1. Pwiquwplwlwnwl 26Gpaph hwipp 30,000.0 30,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 82,000.0 7,000.0 75,000.0
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 7,000.0 7,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 75,000.0 - 75,000.0
3. Pwluyhl tnwpwoéplbnh b 232,325.0 55,000.0 177,325.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)Opuwihb) ng 4521 15,000.0 15,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

C = =| 3 o pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3

c= 2 23 = = QOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbph L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 152,125.0 - 152,125.0
- Wy dbpbawobn L uwppwynpniibbp 5129 25,200.0 - 25,200.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwl 85,000.0 85,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 85,000.0 85,000.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 16,666.0 16,666.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 16,666.0 16,666.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 86,422.1 68,422.1 18,000.0
wyn pyntd’

2810\ 08 | 1 | 0 | <wlquunh L uynpnh dweuyntpntGlbn 26,518.3 8,518.3 18,000.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 26,518.3 8,518.3 18,000.0
wyn pyntd’
1. Uynpunuyhl dhonquienidabnh 8,618.3 8,5618.3 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 8,518.3 8,518.3 -
2. L<wliquinh gninhlG6nph L qpnuuyghlGbph 18,000.0 - 18,000.0
Ywenigmid n wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 18,000.0 - 18,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 59,903.8 59,903.8 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 18,703.8 18,703.8 -
wyn pynid’
1. Qpuinwpwluyhl SweuyntpntGGEN 18,703.8 18,703.8 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 18,703.8 18,703.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyntGbkn 41,200.0 41,200.0 -
wyn pynd’
1. Vpwiynipuyhl dhonguientuGbph 41,200.0 41,200.0 -
hpwlwlbuwgntd
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 36,450.0 36,450.0 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnebn 4267 2,750.0 2,750.0 -

2900(09|0 | O urPENH33NHL 1,197,332.3 1,197,332.3 -

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 762,918.0 762,918.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwjuwnwpngwywb Ynppnepinta 762,918.0 762,918.0
wyn pynd’
1. Lwfuwi nquluwl niunignid 762,918.0 762,918.0
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 762,918.0 762,918.0
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 434,414.3 434,414.3
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 434,414.3 434,414.3
wyn pyntd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 434,414.3 434,414.3
- Untpuhnhwtp ng $hOwbuwywl wenwywh 4511 434,414.3 434,414.3
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 126,536.6 126,536.6
wyn pynid’

3070/10| 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGGn (wyy 31,299.0 31,299.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 31,299.0 31,299.0
nuwubpht swywunywbnn)
wyn pyntd’
1. Unghuwjwiwbu wiwwwhny pGunuwiGhplbnh 1,627.0 1,627.0
bp6luwlbbph hwiquinh Yuqdwybnwnid
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 777.0 777.0
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 850.0 850.0
2. <wpwquiin sniabgnn wadwag b 1,678.0 1,5678.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuqowlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,578.0 1,578.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 20,994.0 20,994.0
wnnlwluilb b hhpuinwlh opbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 9,134.0 9,134.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 9,000.0 9,000.0
- <wwnnty GwwuinwywihG wy Gpneptn 4269 1,000.0 1,000.0
- W Gwwuinbbp pinuobihg 4729 1,860.0 1,860.0
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

4. Unghwjwuwbu wiwwwhny widwlg 6,500.0 6,500.0
wowlgnipint G
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 1,500.0 1,500.0
$hlwbuwywb Yugtwytnpwnipntbbbph
- W Gwwuinbbp pinuobihg 4729 5,000.0 5,000.0
5. wuwpuwywluwb yuqiwlbnuwnipin 6GEpHG 600.0 600.0
wowlgnipint G
- LdhpwuwnynipntbGbp wy pwhniye shGunwwGnnn 4819 600.0 600.0
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 95,237.6 95,237.6
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwwwwbntpjntb (wy nwubnphl 45,305.6 45,305.6
swwinywlnn)
wyn pynid’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 45,305.6 45,305.6
qnponLGGnLpywl Yuqdwlybnwnid
(wunydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 44,120.7 44,120.7
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 560.4 560.4
- UndntGwy SwrwjnipnLGbEn 4213 335 335
- Ywuwh SwrwjnipnLtGbp 4214 240.5 240.5
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 300.0 300.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 50.5 50.5

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 49,932.0 49,932.0
odwlnwy dwrwnipyntbbtn (wjp nwubphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipint G 49,932.0 49,932.0
- Uywhnjwgnwywb dwfuubin 4215 49,932.0 49,932.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Unyniuwy 5

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
AUYPUSEL 4uN2uUuUL crRULh Uuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 1,365,666.7 1,228,666.7 137,000.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 299,458.9 293,458.9 6,000.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 296,158.9 292,158.9 4,000.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 296,158.9 292,158.9 4,000.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 293,158.9 289,158.9 4,000.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 195,299.0 195,299.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 60,092.0 60,092.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 8,400.0 8,400.0 -
- UndntGwy SwrwjnipnLGbEn 4213 700.5 700.5 -
- Ywuwh SwrwjnipnLtGbp 4214 7,500.0 7,500.0 -
- Uywhnjwgnwywb dwfuutkn 4215 125.0 125.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 220.0 220.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 100.0 100.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 1,500.0 1,500.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 3,000.0 3,000.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 1,000.0 1,000.0 -
- Spwluwnpuwihb Gnipkn 4264 6,362.4 6,362.4 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 780.0 780.0 -
- Mwpunwnhp y&wpokn 4823 80.0 80.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 4,000.0 - 4,000.0
2. dwpswlwlb opybyinlGlnh hhdGwlnpngnid 3,000.0 3,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 2,000.0 - 2,000.0
SweuyntpnLGG6&ph qony hGunnwgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 2,000.0 - 2,000.0
qony hbuinwgnunwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 2,000.0 - 2,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 2,000.0 - 2,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,300.0 1,300.0 -
SwreuynipnLGG6n (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwlntp pOnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,300.0 1,300.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 800.0 800.0 -
npnnidG6ph b YahrGbph nbd Y6pwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 800.0 800.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 500.0 500.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Ywwywé Jawpnidlbn
- Mwpunwnhp y&wpokn 4823 500.0 500.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 650.0 650.0 -
wyn pynd’

2250|102 | 5 | 0 | Nwpwnwuwbnipint G (wyy nwubphl swuwinbwlng) 650.0 650.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 650.0 650.0 -

wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. 2htwwwninlbnh hwyywedwl, gnpwlnsh, 650.0 650.0 -
gnpwhwyuwph b Jundwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 650.0 650.0 -

2400/04|0 | O SULSEUULUL <UrurtMPN@3NFLLEN 122,923.0 92,423.0 30,500.0
wyn pynd’

2420|104 | 2 | O | Ynuquinbuwnbunipnt G, wiwnweuyhl 15,000.0 - 15,000.0
wnbwnbunipinil, dyGnpunipintl b
npunpnnip/nLi
nnphg’

2424104 | 2 | 4 |Nengniy 15,000.0 - 15,000.0
wyn pynid’
1. Nenquwl gquiGgh Yuenignid L 15,000.0 - 15,000.0
YGpwlnpngniy
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 15,000.0 - 15,000.0

2450104 | 5 | 0 | Spwluwnpwn 87,838.0 72,338.0 15,500.0
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 72,338.0 72,338.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 38,810.0 38,810.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 38,810.0 38,810.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 31,063.0 31,063.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 31,063.0 31,063.0 -
wwhwwlntd
8. UwynninhlG6ph L thnnnglbph 2,465.0 2,465.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,465.0 2,465.0 -
wwhwwlntd

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 15,500.0 - 15,500.0
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 15,500.0 - 15,500.0
- Wy dbpbawobn L uwppwynpniibbp 5129 15,500.0 - 15,500.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 20,085.0 20,085.0 -
nwubphl swunluwinn)
nphg’

2491/04 | 9 | 1 |SGwnBuwywh hwnpwpbnnigntbbbp (w) nwubph 20,085.0 20,085.0 -

swwinywlnn)

wyn pynd’

85




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 20,000.0 20,000.0 -
upfuwnulplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 20,000.0 20,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 224,834.0 124,334.0 100,500.0

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 224,834.0 124,334.0 100,500.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpnipiwb L Yndntbuwyg 224,834.0 124,334.0 100,500.0
Swrwjntpntbbbn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquwpbwlwnwl 26Gpaph hwipp 30,000.0 30,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 18,000.0 - 18,000.0
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 18,000.0 - 18,000.0
3. Pwluyhl tnwpwoéplbnh b 102,500.0 20,000.0 82,500.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 20,000.0 20,000.0 -
$hlwbuwywb ugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 75,000.0 - 75,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 7,500.0 - 7,500.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla 70,000.0 70,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 70,000.0 70,000.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 4,334.0 4,334.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 4,334.0 4,334.0 -
wwhwwlntd

2800(08| 0 | O <UuLahus, ucuuntse b4 urnu 31,029.3 31,029.3 -
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 3,500.0 3,500.0 -

nnhg’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

Sz % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

281108 | 1 | 1 |[<wOquunh L uwynpuinh SwrwjnipnLtGbp 3,500.0 3,500.0
wyn pynd’
1. Uynpunuyhl dhonquenidabnh 3,5600.0 3,500.0
Juquwlbpwniu
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,500.0 3,500.0

282008 | 2 | 0 |Vpwhynipuyhl SwruynipniGlbn 27,529.3 27,529.3
nnphg’

2821|108 | 2 | 1 |Qpwnwpwabbn 13,629.3 13,629.3
wyn pynd’
1. Qpuinwpwluyhl dweuynipint GGG 13,629.3 13,629.3
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 13,629.3 13,629.3
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 13,900.0 13,900.0
wyn pynid’
1. Vpwiynipuyhl dhonguientuGbph 13,900.0 13,900.0
hpwluwlwgni
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 12,000.0 12,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,900.0 1,900.0

2900|09|0 | O uPBNH33NHL 628,745.6 628,745.6
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlywl b tnwppwlwl pGnhwGnip 453,489.6 453,489.6
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 453,489.6 453,489.6
wyn pynd’
1. Lwfuwi nquluwl niunignid 453,489.6 453,489.6
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 453,489.6 453,489.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 175,256.0 175,256.0
Yppnipinil
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 175,256.0 175,256.0
wyn pynd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 175,256.0 175,256.0
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 175,256.0 175,256.0

(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

300010 0 unshuLuyuu nucSMULNH33NFL 58,025.9 58,025.9
wyjn pyntd’

3070|110 | 7 | O |Unghwjwlwl hunnny wpwnnGnipiniGGGR (wyy 17,350.0 17,350.0
nwubphl swunnluwbnn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 17,350.0 17,350.0
nuwubpht swywunywbnn)
wyn pynd’
1. Unghuwjwwbu wiwwwhny pGunwlhplbph 650.0 650.0
bp6luwlbbph hwiquinh Yuqdwybnwnid
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 650.0 650.0
2. <wpwquiin sniabgnn wadwag b 2,000.0 2,000.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnhG 11,700.0 11,700.0
wnnlwlulb b hhpuinwlh opbphlG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,000.0 4,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 6,500.0 6,500.0
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 1,200.0 1,200.0
4. Unghwjwuwbu wiwwwhny widwlg 3,000.0 3,000.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 3,000.0 3,000.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 40,675.9 40,675.9
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 18,160.9 18,160.9
swwinywlnn)
wyn pynid’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 18,160.9 18,160.9
qnponLGGnLpywl Yuqdwlybnwnid
(wunydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 17,992.7 17,992.7
hwyblwygwnbbp
- Ywuwh SwrwjnipnLtGbp 4214 42.0 42.0
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 126.2 126.2

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnnpynn 22,515.0 22,515.0

odwlnwy dwrwnipintbbtn (wjp nwubphl
swwinywlnn)

wyn pynd’

88




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
2. Upnnonipywl wwwhnywaqnpnipint G 22,515.0 22,515.0
4215 22,515.0 22,515.0

- Uywhnjwgnwywb dwfuutkn
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Unyntuwy 6

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
tPGeAFLHL YUM2ULUL CNRULh Uuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,222,337.4 2,023,114.4 199,223.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 489,063.7 482,962.7 6,101.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 472,592 .4 469,491.4 3,101.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 472,592.4 469,491.4 3,101.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 468,592.4 465,491.4 3,101.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 312,949.0 312,949.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 96,296.0 96,296.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 18,262.0 18,262.0 -
- UndntGwy SwrwjnipnLGbEn 4213 2,467.0 2,467.0 -
- Ywuwh SwrwjnipnLtGbp 4214 9,437.0 9,437.0 -
- Uywhnjwgnwywb dwfuutkn 4215 220.0 220.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 400.0 400.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 123.0 123.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 350.0 350.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,028.0 2,028.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 3,640.0 3,640.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 3,179.8 3,179.8 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| 5 2 pinLetnwh n 9 £ = Yunswyw pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 9,496.9 9,496.9 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 2,470.7 2,470.7 -
- dwwnnty GwwuinwywihG wyp neptn 4269 30.0 30.0 -
- Mwpunwnhp y&wpokn 4823 142.0 142.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 3,101.0 - 3,101.0
2. dwpswlwlb opybyinlGlnh hhdGwlnpngnid 4,000.0 4,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph Sweuynipint GGG 11,471.3 11,471.3 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,471.3 -
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,471.3 -
qnuibguwl Sweuyntpiuwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 10,083.4 10,083.4 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGbn 4212 700.0 700.0 -
- Ywuwh SwrwjnipnLtGbp 4214 517.3 517.3 -
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 161.5 161.5 -
- Mwpunwnhp y&wpokn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 3,000.0 - 3,000.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 3,000.0 - 3,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 3,000.0 - 3,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,000.0 2,000.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwGntp pGnyph hwGpwihb SwrwnipntGOGn (w) 2,000.0 2,000.0 -
nuwubphb swywunywbnn)
wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 1,000.0 1,000.0 -
npnnidGbph b YahrGbph nbd Y6pwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 1,000.0 1,000.0 -
qpuiiguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -

2200/02|0 | 0 nuUcSMULNHB3NFL 1,000.0 1,000.0 -
wyjn pyntd’

2250|102 | 5 | 0 | Quwpunwuwlbnipint G (wy; nwubphl swuinbwlng) 1,000.0 1,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy| nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 1,000.0 1,000.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0 -

2400/04|0 | O SLSEUUUUL <UnurtMPNHa3NFLLGN 179,617.0 153,985.0 25,632.0
wyn pynid’

2450104 | 5 | 0 | Spwluwnpwn 149,532.0 123,900.0 25,632.0
nnphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 123,900.0 123,900.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 118,130.0 118,130.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 118,130.0 118,130.0 -
wwhwwlntd
8. UwynninhlG6ph L thnnnglbph 5,770.0 5,770.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 5,770.0 5,770.0 -
wwhwwlntd

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 25,632.0 - 25,632.0
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 25,632.0 - 25,632.0
- Wy dbpbawobn L uwppwynpniibbp 5129 25,632.0 - 25,632.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunluwinn)
nnphg’

92




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnpnipntbObp (w) nwubphG 30,085.0 30,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbnuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuunt@3Ntu 8,300.0 8,300.0 -
wyn pynd’

2560|105 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 8,300.0 8,300.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubnphl 8,300.0 8,300.0 -
swwinywlnn)
wyn pynid’
2. UfunnwhwGowl b dhounnwqbpdédwl 5,500.0 5,500.0 -
Swipuynipynt (G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEn 4213 5,500.0 5,500.0 -
3. <wuwnwluwlwl gniquipuwlblbph 2,800.0 2,800.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 2,800.0 2,800.0 -

2600/06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 370,694.9 203,344.9 167,350.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 370,694.9 203,344.9 167,350.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 370,694.9 203,344.9 167,350.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwiquwplwlwnwl 26Gpaph hwipp 62,750.9 62,750.9 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 62,750.9 62,750.9 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 110,000.0 - 110,000.0
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 110,000.0 - 110,000.0
3. Pwiluyhl tnwpwéplbnh b 57,350.0 - 57,350.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
nwuwywpgiwb hnnywébbnph  wadwbnuibbpp
a| =2 YwpqiwG hnnywsttph  woYwanidot =
1 1213 |4 5 6 7 8 9

- GLlpbph L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 57,350.0 - 57,350.0
4. Puquuwplwluwnwl 26Gpbph punbywnquwl 134,094.0 134,094.0 -
wyy wipfuunnuwliplbn
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 129,094.0 129,094.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 5,000.0 5,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 6,500.0 6,500.0 -
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,500.0 6,500.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 134,159.4 134,159.4 -
wyn pynid’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 4,500.0 4,500.0 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 4,500.0 4,500.0 -
wyn pynid’
1. Uynpunuyhl dhonquienidabnh 4,500.0 4,500.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,500.0 4,500.0 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 129,659.4 129,659.4 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 39,739.8 39,739.8 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 39,739.8 39,739.8 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 39,739.8 39,739.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwynph inbkn, wynidpdtn, YebunpnbGep 54,839.6 54,839.6 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 54,839.6 54,839.6 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 54,839.6 54,839.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 32,080.0 32,080.0 -
wyn pynd’
1. Vpwiynipuyhl dhonguientuGbph 32,080.0 32,080.0 -
hpwlwlbuwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 29,000.0 29,000.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 3,080.0 3,080.0 -

2827|08 | 2 | 7 |<nipupdwbbEph L dwynipwihb wndtplbph 3,000.0 3,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwipdwlbbph Yepwlnpngnid b 3,000.0 3,000.0 -
wwhwwbniy
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd

2900(09|0 | O uPENH33NHL 939,337.6 939,337.6 -
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 671,850.0 671,850.0 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 671,850.0 671,850.0 -
wyn pynid’
1. Lwfuwi nquluwl niunignid 671,850.0 671,850.0 -
- UntpupnhwGtp ng $howbuwyub weinwywb 4511 671,850.0 671,850.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 267,487.6 267,487.6 -
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 267,487.6 267,487.6 -
wyn pyntd’
1. Upwnw ngqwlwl nuuwnhwnwlynipintG 267,487.6 267,487.6 -
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 267,487.6 267,487.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 100,164.8 100,024.8 140.0
wyn pynid’

3070/10| 7 | O |Unghwjwlwl hunnny wpwnnGnipiniGGGn (wyy 24,065.0 24,065.0 -
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 24,065.0 24,065.0 -
nuwubpht swywunywbnn)
wyn pynd’
2. <wpwquiin sniabgnn wadwag b 3,000.0 3,000.0 -
unghwywuwbu wiwwwhny plunwGhplbnph
hwdwpn hninwipywynpnpwi yuquowlbpunid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 3,000.0 3,000.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 15,900.0 15,900.0 -
wnnlwlulb b hhpuinwlh opbphG wowlgnipnt G
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,500.0 3,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 8,400.0 8,400.0 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 2,000.0 2,000.0 -
4. Unghwjwuwbu wiwwwhny widwlg 5,165.0 5,165.0 -
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 2,000.0 2,000.0 -
- LuhpwuwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 3,165.0 3,165.0 -
Juaqiwybpwnipyntbbephl

309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 76,099.8 75,959.8 140.0
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 34,147.8 34,007.8 140.0
swwinywnn)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 34,147.8 34,007.8 140.0
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 31,866.2 31,866.2 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGbn 4212 683.3 683.3 -
- Ywuwh SwrwjnipnLtGbp 4214 159.4 159.4 -
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 1,200.0 1,200.0 -
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 79.7 79.7 -
- Mwpuwnhp y&wpokn 4823 19.2 19.2 -
- Jwpswywb uwppwynpniibbn 5122 140.0 - 140.0

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 41,952.0 41,952.0 -
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 41,952.0 41,952.0 -
- Uywhnjwgnpwywb dwfuubin 4215 41,952.0 41,952.0 -
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt

2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Uryntuwy 7

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
ygGuLsSPNL YuNULUUL cNRULHL UUUNY

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,049,147.5 2,709,521.7 339,625.8
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 812,733.3 796,689.7 16,043.6
ounusnt@3NFLLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 791,262.0 779,262.0 12,000.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 791,262.0 779,262.0 12,000.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 771,262.0 759,262.0 12,000.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 515,086.0 515,086.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 158,488.0 158,488.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 18,000.0 18,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,700.0 1,700.0 -
- Ywuwh SwrwjnipnLtGbp 4214 9,159.8 9,159.8 -
- Uywhnjwgnwywb dwfuutkn 4215 500.0 500.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 2,500.0 2,500.0 -
- Ywnswywl swewinipyntbbtn 4231 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 1,500.0 1,500.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 2,200.0 2,200.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 661.9 661.9 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 8,549.7 8,549.7 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 10,000.0 10,000.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 14,916.6 14,916.6 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 3,600.0 3,600.0 -
- W Gwwuinbbp pinuobihg 4729 200.0 200.0 -
- Mwpunwnhp y&wpokn 4823 200.0 200.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Jwpswywb uwppwynpniitbn 5122 10,000.0 - 10,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 2,000.0 - 2,000.0
2. Ywpswlwl opylyuinGlnh hhoGwGnpngnid 20,000.0 20,000.0 -
- GLlpbnh L Ywrenygltnph pGewghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip pGnyph SweuynipntGGEn 11,471.3 11,427.7 43.6
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,427.7 43.6
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,427.7 43.6
qnuibguwl Sweuyntpiuwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 10,317.0 10,317.0 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGbn 4212 550.0 550.0 -
- UndntGwy SwrwjnipnLGbEn 4213 9.0 9.0 -
- Ywuwh SwrwjnipnLtGbp 4214 100.0 100.0 -
- Ywnswywl Swewinipintbbtn 4231 95.0 95.0 -
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 150.0 150.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 197.6 197.6 -
- Mwpuwnhp y&wpokn 4823 9.1 9.1 -
- Jwpswywb uwppwynpniibbn 5122 43.6 - 43.6

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 4,000.0 - 4,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 4,000.0 - 4,000.0
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- LwjuwgswhbGunwgnunwywb dwfuubn 5134 4,000.0 - 4,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 6,000.0 6,000.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwGntp pGnyph hwGpwihb SwrwnipnLtGOGn (wy 6,000.0 6,000.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 4,000.0 4,000.0 -
npnynLdGbph L YahrlG6nh nb&U Ybpwipllhs L
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 4,000.0 4,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 2,000.0 2,000.0 -
qpuiiguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 2,000.0 2,000.0 -

2200/02|0 | 0 nUcSMULNIB@3NFL 2,000.0 2,000.0 -
wyn pynid’

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuwwnlwlng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyjn pyntd’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwywph b Jupdwluwl hwywplbbph
Yuquwlbpwdwlo wowlygnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NtLLGN 171,610.0 156,610.0 15,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 121,525.0 106,525.0 15,000.0
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnpun 121,525.0 106,525.0 15,000.0
wyjn pyntd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 101,300.0 101,300.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 101,300.0 101,300.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 15,000.0 - 15,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 15,000.0 - 15,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

8. UwynninhlGGph L thnnnglbph 5,225.0 5,225.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 5,225.0 5,225.0 -
wwhwwlntd

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 50,085.0 50,085.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGnBuwywl hwpwpbnnigntbbbp (w) nwubph 50,085.0 50,085.0 -
swwinywann)
wyn pynid’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 50,000.0 50,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 50,000.0 50,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNrh mucsmuuNnt@3Ntu 10,920.0 10,920.0 -
wyn pynd’

256005 | 6 | 0 |Cpowlw vhowyuyph wwpwnwwlnipinta (wy 10,920.0 10,920.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 [Cpowyw thowdwnh wwuwwbnipintd (wy nwubnphl 10,920.0 10,920.0 -
swwunywbnn)
wyjn pyntd’
2. UfunnwhwGowl b dhounwqbpdédwl 10,000.0 10,000.0 -
Swipuynipynt (G6p /nbrunnhquighw
- UndntGwy SwrwjnipnLGbEGn 4213 10,000.0 10,000.0 -
3. <wuwnwlwlwl qniquipnwilbnph 920.0 920.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 920.0 920.0 -

2600/06| 0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 595,069.0 298,513.0 296,556.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 595,069.0 298,513.0 296,556.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 595,069.0 298,513.0 296,556.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyjn pyntd’
1. Pwquwpbwlwnwl 26Gpaph hwipp 29,000.0 29,000.0 -

wnwlhplbnh Yyepwlnpngnid
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 29,000.0 29,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 135,156.0 - 135,156.0
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 135,156.0 - 135,156.0
3. Pwiluyhl tnwpwéplbnh b 276,945.0 115,545.0 161,400.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 101,500.0 101,500.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 14,045.0 14,045.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 150,000.0 - 150,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 11,400.0 - 11,400.0
4. Puquwplwluwnwl 26Gpbph punbiwnquwl 143,135.0 143,135.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 123,135.0 123,135.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 20,000.0 20,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 10,833.0 10,833.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,833.0 10,833.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 115,681.0 104,281.0 11,400.0
wyn pyntd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 17,493.6 6,093.6 11,400.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 17,493.6 6,093.6 11,400.0
wyn pynd’
1. Uynpunuyhl dhonquienidabnh 4,5693.6 4,5693.6 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,593.6 4,593.6 -
2. L<wliquinh gninhlG6ph L gpnuuyghlGbph 12,900.0 1,500.0 11,400.0
Ywenigmid n wwhwwlnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 1,500.0 1,500.0 -
wwhwwlntd
- Wy dbpbawobn L uwppwynpniibbp 5129 11,400.0 - 11,400.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 98,187.4 98,187.4 -

nnhg’
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
-
1 1213 |4 5 6 7 8 9

2821| 08 1 |Qpwnwpwbbn 13,731.9 13,731.9
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 13,731.9 13,731.9
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 13,731.9 13,731.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynidpdtn, YebunpnaGep 28,359.5 28,359.5
wyn pynd’
1. <wduylpuyhl dywlynyph b wquwn dwdwlgh 28,359.5 28,359.5
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 28,359.5 28,359.5
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyntGbkn 50,096.0 50,096.0
wyn pyntd’
1. Vpwiynipuyhl dhonquenidlabnh 50,096.0 50,096.0
hpwlwlbuwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 46,576.0 46,576.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,520.0 3,520.0

2827|08 | 2 | 7 |<nipwupdwbbEph L dwynipwihb wndtplbph 6,000.0 6,000.0
ybpwywbglnid L wwhwwnid
wyn pynd’
1. <nipwipdwlbbph Yepwlnpngnid b 6,000.0 6,000.0
wwhwwbniy
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 6,000.0 6,000.0

2900(09|0 | O urPENH33NHL 1,187,062.3 1,187,062.3
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwlwa pGnhwGnip 890,698.8 890,698.8
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepinta 890,698.8 890,698.8
wyn pynid’
1. Lwfuwi nquluwl niunignid 890,698.8 890,698.8
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 890,698.8 890,698.8
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 296,363.5 296,363.5
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 296,363.5 296,363.5

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Upwnw ngqwlwl nuuwnhwnpwlynipintG 296,363.5 296,363.5 -
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 296,363.5 296,363.5 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MuUcSMULNH33NFL 154,071.9 1563,445.7 626.2
wyn pynd’

3070|110 | 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGaGn (wyy 56,280.5 56,280.5 -
nwubphl swunluwinn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 56,280.5 56,280.5 -
nwubphb swywunywbnn)
wyn pyntd’
2. <wpwquiin sniabgnn wadwag b 3,650.5 3,650.5 -
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,550.5 3,550.5 -
3. Unghuwywwbu wlwuwwhny pGunwGhplbnhG 38,330.0 38,330.0 -
wnnlwlulb b hhpuinwlh opbphlG wowlgnipnt G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 22,250.0 22,250.0 -
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 14,620.0 14,620.0 -
- W Gwwuinbbp pinuobihg 4729 1,460.0 1,460.0 -
4. Unghwjwuwbu wiwwwhny widwlg 13,200.0 13,200.0 -
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 10,200.0 10,200.0 -
- LdhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 3,000.0 3,000.0 -
Juaqiwybpwnipyntbbtphl
5. <wuwnpwlwlwl yuwqiwlybpunipini GGGpAG 1,200.0 1,200.0 -
wowlgnipint G
- LdhpwuwnynipntbGbp wy pwhniye shGunwwGnnn 4819 1,200.0 1,200.0 -
Juaqiwybpwnipyntbbtnhl

309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 97,791.4 97,165.2 626.2
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 47,631.4 47,005.2 626.2
swwinywlnn)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 47,631.4 47,005.2 626.2
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwunnnGbph w2fuwwnwywpdbn L 4111 45,128.6 45,128.6 -

hwyblwygwnbbp
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- EGGpgbuinhy swrwynipnLbGep 4212 1,000.0 1,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 251 251 -
- Ywuwh SwrwjnipnLtGbp 4214 227.5 227.5 -
- Qpwubwyuwh Gnipbp L hwgniuwn 4261 500.0 500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 124.0 124.0 -
- Jwpswywb uwppwynpniitbn 5122 626.2 - 626.2

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 50,160.0 50,160.0 -
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 50,160.0 50,160.0 -
- Uywhnjwgnwywb dwfuutn 4215 50,160.0 50,160.0 -
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt

2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Unyntuwy 8

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
UuULuUBhu-UGRAUUShU 4YUN2U4UUL CNrRULh UUUNY

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = o0

s £ = 3 = nwakop

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,942,226.7 2,786,252.2 155,974.5
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 544,908.1 537,027.6 7,880.5
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 527,936.8 524,056.3 3,880.5
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 527,936.8 524,056.3 3,880.5
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 527,936.8 524,056.3 3,880.5
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 362,206.0 362,206.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 111,448.0 111,448.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 14,133.4 14,133.4 -
- UndntGwy SwrwjnipnLGbEn 4213 476.1 476.1 -
- Ywuwh SwrwjnipnLtGbp 4214 10,753.6 10,753.6 -
- Uywhnjwgnwywb dwfuutkn 4215 320.0 320.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 240.0 240.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 420.0 420.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 844.0 844.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 4,455.0 4,455.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 2,500.2 2,500.2 -
- Spwluwnpuwihb Gnipkn 4264 10,989.8 10,989.8 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 1,035.2 1,035.2 -
- Mwpunwnhp y&wpokn 4823 235.0 235.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 3,880.5 - 3,880.5

2130|101 | 3 | 0 |Lanhwlnip pGnyph Sweuynipint GGG 11,471.3 11,471.3 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,471.3 -
SwrwjnLpnLbbEn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,471.3 -
qnuibguwl Sweuyntpiuwl gnpdéntG6ntpjul
Yuwqdwlybpynid (wuindppuiljuwé
[hwqnpnipni GG6R)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 10,289.6 10,289.6 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLtGen 4212 648.8 648.8 -
- UndntGwy SwrwjnipnLGbEGn 4213 74.8 74.8 -
- Ywuwh SwrwjnipnLtGbp 4214 111.5 111.5 -
- Ywnswywl swewinipintbbtn 4231 53.0 53.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 60.0 60.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 162.3 162.3 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 62.2 62.2 -
- Mwpunwnhp y&wpokn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 4,000.0 - 4,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 4,000.0 - 4,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 4,000.0 - 4,000.0

2160|101 | 6 | O | 2Gnhwlnip pGnyph hwipuyhl 1,500.0 1,500.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwGntp pGnyph hwGpwihb SwrwnipntGOGn (w) 1,500.0 1,500.0 -

nuwubphb swywunywbnn)

wyn pynd’
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 500.0 500.0 -
npnnidGbph b YahrGbph nbd Y6pwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 500.0 500.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 1,000.0 1,000.0 -
qpuiiguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -

2200/02|0 | 0 nuUcSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpunwuwlbnipint G (wy; nwubphl swuinbwlng) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy| nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSEUUUUL <UnurtMPNHa3NFLLGN 227,010.0 200,010.0 27,000.0
wyn pynid’

2450104 | 5 | 0 | Spwluwnpwn 196,925.0 169,925.0 27,000.0
nnphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 169,925.0 169,925.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 143,820.0 143,820.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 143,820.0 143,820.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 21,000.0 21,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 21,000.0 21,000.0 -
wwhwwlntd
8. UwynninhlG6ph L thnnnglbph 5,105.0 5,105.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 5,105.0 5,105.0 -
wwhwwlntd

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 27,000.0 - 27,000.0

wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

1. dbpbjwlyGbph hhvGwlnpngntd 27,000.0 - 27,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 27,000.0 - 27,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunnluwbnn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywann)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niéned wwhwiGgnn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 645.6 645.6 -
wyn pyntd’

2510105| 1 | 0 |Unpwhwlnu 645.6 645.6 -
nnphg’

2511{05| 1 | 1 |UnpwhwOntd 645.6 645.6 -
wyn pynd’
1. UnpwhwiGnipnt 0 L uwlhunwpwiywl 645.6 645.6 -
duwpnntd
- W Gwwuinbbp pinuobihg 4729 645.6 645.6 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 270,594.0 149,500.0 121,094.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 270,594.0 149,500.0 121,094.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 270,594.0 149,500.0 121,094.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwiquwplwlwnwl 26Gpaph hwipp 35,000.0 35,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 35,000.0 35,000.0 -
wwhwwlntd
3. Pwluyhl tnwpwoéplbnh b 149,094.0 28,000.0 121,094.0

fuwnuwhpwwwpuwlGbnh hhdGwlnpngnid nt
wwhwwbniy
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 28,000.0 28,000.0 -
$hlwbuwywb Yugiwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEph Yuwwhunwy yepwbnpngned 5113 121,094.0 - 121,094.0
4. Puquuiplwluwnwl 26Gp6nph punblyupquwl 80,000.0 80,000.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 80,000.0 80,000.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 6,500.0 6,500.0 -
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,500.0 6,500.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 72,494.0 72,494.0 -
wyn pynid’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 6,443.4 6,443.4 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 6,443.4 6,443.4 -
wyn pynid’
1. Uynpunuyhlb dhonguientuGbph 6,443.4 6,443.4 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 6,443.4 6,443.4 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 66,050.6 66,050.6 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 26,999.8 26,999.8 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 26,999.8 26,999.8 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 26,999.8 26,999.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwynph inbkn, wynidpdtn, YebunpnbGep 12,362.6 12,362.6 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 12,362.6 12,362.6 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 12,362.6 12,362.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 26,688.2 26,688.2 -
wyn pynd’
1. Vpwiynipuyhl dhonguientuGbph 26,688.2 26,688.2 -
hpwlwlbuwgntd
- Qnyph L uwppwynpniibbph yupédwywintpintla 4216 2,400.0 2,400.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 18,458.2 18,458.2
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 5,830.0 5,830.0

2900(09|0 | O urPENH33NHL 1,687,507.6 1,687,507.6
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,363,658.0 1,363,658.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,363,658.0 1,363,658.0
wyn pynd’
1. Lwfuwi nquluwl niunignid 1,363,658.0 1,363,658.0
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 1,363,658.0 1,363,658.0
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 323,849.6 323,849.6
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 323,849.6 323,849.6
wyn pynd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 323,849.6 323,849.6
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 323,849.6 323,849.6
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 137,067.4 137,067.4
wyn pyntd’

3070/10| 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGGn (wyy 32,410.0 32,410.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 32,410.0 32,410.0
nwubphb swywunywbnn)
wyn pynd’
2. <wpwquiin sniabgnn wadwag b 3,950.0 3,950.0
unghwywuwbu wiwwwhny plunwGhplbnph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,950.0 3,950.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 18,140.0 18,140.0
wnbwlwl L hhywwnwlh opbphl wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 10,000.0 10,000.0
- <wwnnty GwwuinwywihG wyp Gneptn 4269 7,640.0 7,640.0
- W Gwwunbbp pinuobihg 4729 500.0 500.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
4. Unghwjwuwbu wiwwwhny widwlg 10,320.0 10,320.0
wowlgnipint G
- dwwnnty GwwuinwlwihG wyp nuptn 4269 320.0 320.0
- W Gwwunbbp pinuobihg 4729 10,000.0 10,000.0
3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 104,657.4 104,657.4
nwubphl swunluwinn)
nnphg’
309110 | 9 | 1 |Unghwjwywl wwwwwbntpjntb (wy nwubphl 42,299.4 42,299.4
swwinywann)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 42,299.4 42.299.4
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 41,573.0 41,573.0
hwyblwygwnbbp
- Ywuwh SwrwjnipnLtGbp 4214 89.0 89.0
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 537.4 537.4
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 100.0 100.0
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 62,358.0 62,358.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipint G 62,358.0 62,358.0
- Uywhnjwgnpwywb dwfuutin 4215 62,358.0 62,358.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Unyntuwy 9

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
unr/ vnee YuNruUYUL crRULh uuny

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,152,570.5 2,810,230.8 342,339.7
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 642,807.4 566,967.7 75,839.7
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 624,336.1 552,746.4 71,589.7
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

211101 | 1 | 1 |OpGGunhp L gnpéwnhp dwpahbGGep, wwnwywh 624,336.1 552,746.4 71,589.7
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 545,636.4 541,246.4 4,390.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 354,926.0 354,926.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 109,208.0 109,208.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 28,581.0 28,581.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,669.2 1,669.2 -
- Ywuwh SwrwjnipnLtGbp 4214 9,276.5 9,276.5 -
- Uywhnjwgnwywb dwfuutkn 4215 200.0 200.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 300.0 300.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 180.0 180.0 -
- Wuwwnwywqih dwulwghunwywb qupgugiwl 4233 3,000.0 3,000.0 -
SwrwjnLpnLbbEn
- SbnGYwuinywywh swewjnientbbtn 4234 937.5 937.5 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,973.6 2,973.6 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 5,800.0 5,800.0 -

Gnpngntd b wwhwwGnid
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Qpwublwyuwh Gnipbp L hwgniuwn 4261 3,895.4 3,895.4 -
- Spwluwnpuwihb Gnipkn 4264 12,247.0 12,247.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 1,552.2 1,552.2 -
- Mwpunwnhp y&wpokn 4823 500.0 500.0 -
- Uj) Swiuubn 4861 4,000.0 4,000.0 -
- Jwpswywb uwppwynpniitbn 5122 4,390.0 - 4,390.0
2. Ywpswlwl opylyuinGlnh hhoGwGnpngnid 78,699.7 11,500.0 67,199.7
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 11,500.0 11,500.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 67,199.7 - 67,199.7

2130|101 | 3 | 0 |Lanhwlnip pGnyph SweuynipntGGEn 11,471.3 11,221.3 250.0
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,471.3 11,221.3 250.0
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,221.3 250.0
qnuibguwl Sweuyntpiuwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 9,544.6 9,544.6 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGbn 4212 448.1 448.1 -
- UndntGwy SwrwjnipnLGbEn 4213 22.0 22.0 -
- Ywuwh SwrwjnipnLtGbp 4214 270.0 270.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 149.5 149.5 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 415.8 415.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 371.3 371.3 -
- Jwpswywb uwppwynpniitbn 5122 250.0 - 250.0

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 4,000.0 - 4,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pyntd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 4,000.0 - 4,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 b anwihG b

w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- LwjuwgswhbGunwgnunwywb dwfuubn 5134 4,000.0 - 4,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 3,000.0 3,000.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwGntp pGnyph hwGpwihb SwrwnipnLtGOGn (wy 3,000.0 3,000.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 1,000.0 1,000.0 -
npnnidG6ph b YahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 2,000.0 2,000.0 -
qpuiiguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 2,000.0 2,000.0 -

2200/02|0 | 0 nuUcSMULNHB3NFL 1,000.0 1,000.0 -
wyn pynid’

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuwwnlwlng) 1,000.0 1,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pyntd’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 1,000.0 1,000.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0 -

2400/04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 216,257.0 195,257.0 21,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 186,157.0 165,157.0 21,000.0
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 165,157.0 165,157.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 153,850.0 153,850.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 153,850.0 153,850.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 7,000.0 7,000.0 -
wwhwwlntd

114




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

8. UwynninhlGGph L thnnnglbph 4,307.0 4,307.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 4,307.0 4,307.0 -
wwhwwlntd

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 21,000.0 - 21,000.0
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 21,000.0 - 21,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 21,000.0 - 21,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,100.0 30,100.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph 30,100.0 30,100.0 -
swwinywlnn)
wyn pynid’
11. SnGwywiswrbbph Juqdwlbpuntd 100.0 100.0 -
- Uj) Swiuubn 4861 100.0 100.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 288,584.0 145,584.0 143,000.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pyntd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipyul L YndntGuy 288,584.0 145,584.0 143,000.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 288,584.0 145,584.0 143,000.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwiquwplwlwnwl 26Gpaph hwipp 60,000.0 60,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 60,000.0 60,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 59,000.0 8,000.0 51,000.0
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 8,000.0 8,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 51,000.0 - 51,000.0
3. Pwluyhl tnwpwoéplbnh b 104,000.0 12,000.0 92,000.0

fuwnuwhpwwwpuwlGbnh hhdGwlnpngnid nt
wwhwwbniy

115



= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 12,000.0 12,000.0 -
$hlwbuwywb Yugiwytnpwnipntbbbph
- GLlpbph L 2hOneyntGbBnph urenigned 5112 32,000.0 - 32,000.0
- GLlpbnh L 2hbneyniGbEph Yuwwhuwy yepwbnpngned 5113 60,000.0 - 60,000.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla 59,084.0 59,084.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 59,084.0 59,084.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 6,500.0 6,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,500.0 6,500.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 244,314.3 141,814.3 102,500.0
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 114,950.0 12,450.0 102,500.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 114,950.0 12,450.0 102,500.0
wyn pynid’
1. Uynpunuyhl dhonquenidabnh 7,450.0 7,450.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 7,450.0 7,450.0 -
2. L<wliquinh gninhlG6ph L gpnuuyghlGbph 107,500.0 5,000.0 102,500.0
Ywenigmid n wwhwwlnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 32,500.0 - 32,500.0
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 70,000.0 - 70,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 129,364.3 129,364.3 -
nnphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 47,971.2 47,971.2 -
wyn pynid’
1. Qpuinwpwluyhl SweuyntpintGGEN 47,971.2 47,971.2 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 47,971.2 47,971.2 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwynyph inbkn, wynitdpdtn, YebunpnaGep 51,193.1 51,193.1 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 51,193.1 51,193.1 -
Yuqdwlbpnwnid
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 51,193.1 51,193.1
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 30,200.0 30,200.0
wyn pynLd’
1. Vpwiynipuyhl dhonguientuGbph 30,200.0 30,200.0
hpwlwlbuwgntd
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 23,160.0 23,160.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 7,040.0 7,040.0

2900(09|0 | O urPENH33NHL 1,636,141.1 1,636,141.1
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,232,600.4 1,232,600.4
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,232,600.4 1,232,600.4
wyn pyntd’
1. Lwfuwi nquluwl niunignid 1,232,600.4 1,232,600.4
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 1,232,600.4 1,232,600.4
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 403,540.7 403,540.7
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 403,540.7 403,540.7
wyn pynd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 403,540.7 403,540.7
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 403,540.7 403,540.7
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 123,466.7 123,466.7
wyn pynd’

3070|110 | 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGaGR (wyy 20,375.0 20,375.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 20,375.0 20,375.0
nuwubpht swywunywbnn)
wyn pynd’
1. Unghuwjwiwbu wiwwwhny pGunuwiGhplbnh 1,000.0 1,000.0
bp6luwlbbph hwiquinh Yuqdwlybpnwnid
- Qnyph L uwppwynpniibbph yupédwywintpintla 4216 1,000.0 1,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG
c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG
w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
2. <wpwquiin sniabgnn wadwag b 2,5600.0 2,500.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuqowlbpunid
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 2,500.0 2,500.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 14,875.0 14,875.0
wnnlwlulb b hhpuinwlh opbphG wowlgnipnt G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 1,000.0 1,000.0
- Qpwublywyuwhl Gnipbp L hwgniuwn 4261 250.0 250.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 8,000.0 8,000.0
- <wwnnty GwwuinwywihG wy Gneptn 4269 3,050.0 3,050.0
- W Gwwuinbbp pinuobihg 4729 2,575.0 2,575.0
4. Unghwjwuwbu wiwwwhny widwlg 2,000.0 2,000.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 2,000.0 2,000.0
3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 103,091.7 103,091.7
nwubphl swunluwinn)
nnphg’
309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 39,763.7 39,763.7
swwinywlnn)
wyn pynid’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 39,763.7 39,763.7
qnponLGGnLpywl Yuqdwlybnwnid
(wunydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 38,945.9 38,945.9
hwyblwygwnbbp
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 30.0 30.0
Gnpngntd b wwhwwGnid
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 287.8 287.8
- Spwluwnpuwihb Gnipkn 4264 400.0 400.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 100.0 100.0
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 63,328.0 63,328.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 63,328.0 63,328.0
- Uywhnjwgnpwywb dwfuubin 4215 63,328.0 63,328.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt

2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Uryntuwy 10

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
LALR-UUNLUS YUMUYUL chrULh Uuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = CONnwika

c£ 3 g3 0 dwluubnh tGwbUWGhWYW 2 st G pynigt | nOnwihG pintg

o2 3| E 2 piniobuinwihG swiuubph wn q == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 597,779.3 562,214.3 35,565.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 220,453.6 216,983.6 3,470.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 218,603.6 216,633.6 1,970.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 218,603.6 216,633.6 1,970.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 218,603.6 216,633.6 1,970.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 151,606.0 151,606.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 46,648.0 46,648.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 4,448.7 4,448.7 -
- UndntGwy SwrwjnipnLGbEn 4213 120.0 120.0 -
- Ywuwh SwrwjnipnLtGbp 4214 1,732.2 1,732.2 -
- Uywhnjwgnwywb dwfuutkn 4215 220.0 220.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 200.0 200.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 123.0 123.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 127.0 127.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 2,550.0 2,550.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 1,000.0 1,000.0 -
- Spwluwnpuwihb Gnipkn 4264 3,450.7 3,450.7 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 360.0 360.0 -
- Mwpunwnhp y&wpokn 4823 48.0 48.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 1,970.0 - 1,970.0

2150|101 | 5 | 0 | 2Gnhwlnip pGnyph hwipuyhl 1,500.0 - 1,500.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 1,500.0 - 1,500.0
qony hbuinwgnunwywo L wfuwgdwht
wfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 1,600.0 - 1,500.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 1,500.0 - 1,500.0

2160|101 | 6 | O | 2Gnhwlnip pGnyph hwipuyhl 350.0 350.0 -
SweuynipnLGG6n (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 350.0 350.0 -
nuwubpht swywunywbnn)
wyn pynid’
1. 2hdmidGbp, huyguinhdnidlbp, nuitnnwnpuiGh 300.0 300.0 -
npnnidGbph b YAahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GGpYuywiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 300.0 300.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 50.0 50.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Ywwywé Jawpnidlbn
- Mwpuwnhp y&wpokn 4823 50.0 50.0 -

2400(04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 64,343.0 48,748.0 15,595.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 54,258.0 38,663.0 15,595.0
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 54,258.0 38,663.0 15,595.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 30,400.0 30,400.0 -
L wwhwwlnd
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 30,400.0 30,400.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

3. Gqnwpwnbnh YGpwlnpnqnid 7,031.0 7,031.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,031.0 7,031.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 15,595.0 - 15,595.0
- GLlpbnh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 15,595.0 - 15,595.0
8. Uuwypninhlbnh L thnnnglbnh 1,232.0 1,232.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 1,232.0 1,232.0 -
wwhwwlntd

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 10,085.0 10,085.0 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SGnBuwywl hwpwpbnnigntbbbp (w) nwubph 10,085.0 10,085.0 -
swwinywnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niéned wwhwiGgnn plpwighly 10,000.0 10,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2500/05/0 | 0 cNRUYU UhudusnNh mucsmuLNi@3Ntu 4,171.0 1,171.0 3,000.0
wyn pyntd’

2510105 | 1 | 0 |Unpwhwlnu 3,000.0 - 3,000.0
nnphg’

251105 1 | 1 |UnpwhwGntd 3,000.0 - 3,000.0
wyn pynd’
1. UnpwhwiGnipnt 0 L uwlhunwpwiywl 3,000.0 - 3,000.0
duwpnntd
- GLlpbph L 2hOneyntGbBnph urenigned 5112 3,000.0 - 3,000.0

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 1,171.0 1,171.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 [Cpowyw thowdwnh wwuwwbnipintd (wy nwubnphl 1,171.0 1,171.0 -
swwinywlnn)
wyn pynd’
2. UfunnwhwGowl b dhounwqbpdédwl 1,171.0 1,171.0 -
Swipuynipynt (G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEn 4213 1,171.0 1,171.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
2600| 06 0 pLULUNULUSHL ChuuruNrnHe3NFL G4 14,637.0 1,137.0 13,500.0
UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 14,637.0 1,137.0 13,500.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipjwb L Yndntbuwg 14,637.0 1,137.0 13,500.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
3. Pwluyhl tnwpwéplbnh b 14,637.0 1,137.0 13,500.0
fuwnwhpuwwuwpwlyGbnh hhoGulnpnqnid ni
wwhwwbniy
- Untpuhnhwlbp ny wbunwywl (ng hwdwybpuwyhl) ng 4521 1,137.0 1,137.0 -
$hlwluwywb Yugiwytnpwnipntbbbph
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 13,500.0 - 13,500.0

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 23,4111 23,4111 -
wyn pynid’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 4,937.4 4,937.4 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 4,937.4 4,937.4 -
wyn pynid’
1. Uynpunuyhl dhonquenidabnh 4,937.4 4,937.4 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 4,937.4 4,937.4 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipintGGGn 18,473.7 18,473.7 -
nnphg’

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 18,473.7 18,473.7 -
wyn pynid’
1. Vpwiynipuyhl dhonquenidla6nh 18,473.7 18,473.7 -
hpwlwlbuwgntd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 17,758.7 17,758.7 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 715.0 715.0 -

2900(09|0 | O urPENH33NHL 237,446.7 237,446.7 -
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlywl b tnwppwlwl pGnhwGnip 141,298.8 141,298.8 -

Uppnipyntl

nnhg’

122




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 141,298.8 141,298.8
wyjn pyntd’
1. Lwfuwi nqulwl niunignid 141,298.8 141,298.8
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 141,298.8 141,298.8
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 96,147.9 96,147.9
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 96,147.9 96,147.9
wyn pynd’
1. Upwnw ngqwlwl nuuwnhwnwlynipint 96,147.9 96,147.9
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 96,147.9 96,147.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 33,316.9 33,316.9
wyn pyntd’

3070|110 | 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGaGR (wyy 11,455.0 11,455.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 11,455.0 11,455.0
nuwubpht swywunywbnn)
wyn pynd’
1. Unghwywuwbu wiwwwhny plGunwGhplbph 200.0 200.0
bp6luwlbbph hwiquinh Yuqdwybnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 200.0 200.0
2. <wpwquiin sniabgnn wadwag b 1,200.0 1,200.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,200.0 1,200.0
3. Unghuwyjwwbu wGwuwwhny nGunuwlGhplbnhi 5,175.0 5,175.0
wnnlwlulb b hhpuinwlh opbphlG wowlgnipnt G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,575.0 3,575.0
- <wwnnty GwwuinwywihG wy Gneptn 4269 1,600.0 1,600.0
4. Unghwjwuwbu wiwwwhny widwlg 4,880.0 4,880.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 4,880.0 4,880.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 21,861.9 21,861.9
nwubphl swunluwbnn)
nnphg’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
3091| 10 1 |Unghwjwywl wwwnwwbnipntb (wy nwubnphl 10,860.9 10,860.9
swwinywlnn)
wyn pynd’
1. Unghwywlwl oqlnipjwl dweuyntpintGG6nH 10,860.9 10,860.9
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 10,563.9 10,563.9
hwyblwygwnbbp
- Ywuwh SwrwjnipnLtGbp 4214 1171 1171
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 120.0 120.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 59.9 59.9
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpudwnnpynn 11,001.0 11,001.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipint G 11,001.0 11,001.0
- Uywhnjwgnwywb dwfuubin 4215 11,001.0 11,001.0
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2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Uryntuwy 11

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
LNAFAULUCSEL YUMUYUL cNrULh yuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 564,211.2 489,680.2 74,531.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 144,267.6 142,267.6 2,000.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 142,267.6 141,767.6 500.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 142,267.6 141,767.6 500.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 142,267.6 141,767.6 500.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 97,942.0 97,942.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 30,136.0 30,136.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 1,700.0 1,700.0 -
- UndntGwy SwrwjnipnLGbEn 4213 240.0 240.0 -
- Ywuwh SwrwjnipnLtGbp 4214 2,336.0 2,336.0 -
- Uywhnjwgnwywb dwfuutkn 4215 150.0 150.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 123.0 123.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 60.0 60.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 1,400.0 1,400.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 850.0 850.0 -
- Spwluwnpuwihb Gnipkn 4264 3,650.6 3,650.6 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 100.0 100.0 -
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG
c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b
w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
- Mwpunwnhp y&wpokn 4823 80.0 80.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
2150|101 | 5 | 0 | LGnhwlnip pGnyph hwipuyhl 1,500.0 - 1,500.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’
215101 | 5 | 1 |2GnhwGntp pGnyph hwOpwihb dwrwjniintGGEnh 1,500.0 - 1,500.0
qony hbuinwgnunwywo L wfuwgdwiht
wRfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 1,600.0 - 1,500.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 1,500.0 - 1,500.0
2160|101 | 6 | O | 2Gnhwlnip pGnyph hwipuyhl 500.0 500.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nnphg’
2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 500.0 500.0 -
nuwubpht swywunywbnn)
wyn pynid’
1. 2hdmidGbp, huyguinhdnidlbp, nuitnnwnpuiGh 200.0 200.0 -
npnnidGbph b YAahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GGpYuywiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 200.0 200.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 300.0 300.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Ywwywé Jawpnidlbn
- Mwpuwnhp y&wpokn 4823 300.0 300.0 -
2200(02|0 | 0 nuUcSMULNHB3NFL 500.0 500.0 -
wyn pynd’
2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuinlwlng) 500.0 500.0 -
nnphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynd’
1. 2htwwwninlbnh hwyywedwl, gnpwlnsh, 500.0 500.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 500.0 500.0 -
2400/04|0 | O SLSGEUULUL <UrurtMPNt@3NFLLEN 51,432.3 51,432.3 -

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

2450104 | 5 | 0 | Spwluwnpwn 40,240.0 40,240.0 -
nnphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 unnpwbuwnnpun 40,240.0 40,240.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 29,110.0 29,110.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 29,110.0 29,110.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltnph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 1,130.0 1,130.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 1,130.0 1,130.0 -
wwhwwlntd

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 11,192.3 11,192.3 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwpwpbnnigntbbbp (w) nwubph 11,192.3 11,192.3 -
swwinywlnn)
wyn pynd’
9. Nwpwnwnhp YAwnplbph quiGddwl 1,107.3 1,107.3 -
SwpuyntpntGGEN
- LuhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 1,107.3 1,107.3 -
Juaqiwybpwnipyntbtphl
11. SnGwywiswrbbph Juqdwlbnund 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 10,000.0 10,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 85,531.0 53,000.0 32,531.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndntGuy 85,531.0 53,000.0 32,5631.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 85,531.0 53,000.0 32,531.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2. Pwquiwplwlwnwl 26Gpbph pbp 20,000.0 20,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- dwwnnty GwwuinwlwihG wyp nuptn 4269 20,000.0 20,000.0 -
3. Pwiluyhl tnwpwéplbnh b 32,531.0 - 32,5631.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 29,031.0 - 29,031.0
- Wy dbpbawobn L uwppwynpniibbp 5129 3,500.0 - 3,500.0
4. Puquuwplwluwnwl 26Gpbph punbywnquwl 33,000.0 33,000.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygltnph pGewghy Gnpngned b 4251 18,000.0 18,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 58,785.8 18,785.8 40,000.0
wyn pynid’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 42,350.0 2,350.0 40,000.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 42,350.0 2,350.0 40,000.0
wyn pynid’
1. Uynpunuyhl dhonquenidabnh 2,350.0 2,350.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,350.0 2,350.0 -
2. L<wliquinh gninhlG6ph L gpnuuyghlGbph 40,000.0 - 40,000.0
Ywenigmid n wwhwwlnid
- GLlpbnh L 2hOnepyntGbBnph urenigned 5112 40,000.0 - 40,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 16,435.8 16,435.8 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 7,035.8 7,035.8 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 7,035.8 7,035.8 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 7,035.8 7,035.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 9,400.0 9,400.0 -
wyn pynd’
1. Vpwiynipuyhl dhonquenidabnh 9,400.0 9,400.0 -
hpwlwlbuwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 9,000.0 9,000.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 400.0 400.0

2900(09|0 | O urPENH33NHL 201,407.9 201,407.9
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwa pGnhwGnip 95,784.0 95,784.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 95,784.0 95,784.0
wyn pynLd’
1. Lwfuwi nquluwl niunignid 95,784.0 95,784.0
- Untpuhnhwltp ng $hOwbuwywl wenwywh 4511 95,784.0 95,784.0
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6nph snwuwlwnpgynn 105,623.9 105,623.9
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 105,623.9 105,623.9
wyn pynd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 105,623.9 105,623.9
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 105,623.9 105,623.9
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 22,286.6 22,286.6
wyn pyntd’

3070/10| 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGGn (wyy 3,150.0 3,150.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 3,150.0 3,150.0
nwubphb swywunywbnn)
wyn pynd’
1. Unghwywuwbu wiwwwhny plunwGhplbph 200.0 200.0
bp6luwlbbph hwiquinh Yuqdwybnwnid
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 200.0 200.0
2. <wpuwquitn sniGbgnn wGdwlg L 700.0 700.0
unghwywuwbu wiwwwhny plunwGhplbnph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 700.0 700.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 2,250.0 2,250.0
wnbwlwl L hhywwnwlh opbphl wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 1,400.0 1,400.0
- <wwnnty GwwuinwywihG wy Gpneptn 4269 850.0 850.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = o0
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
3090| 10 0 | Unghwjwlwl wupwnwwbnignt b (wyy 19,136.6 19,136.6
nwubphl swunluwinn)
nnphg’
309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubnphl 10,700.6 10,700.6
swwinywann)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 10,700.6 10,700.6
qnponLGGnLpywl Yuqdwlybnwnid
(wunnydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 10,421.0 10,421.0
hwyblwygwnbbp
- Ywuwh SwrwjnipnLtGbp 4214 69.8 69.8
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 209.8 209.8
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 8,436.0 8,436.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pyntd’
2. Upnnonipywl wwwhnywaqnpnipint G 8,436.0 8,436.0
- Uywhnjwgnpwywb dwfuubin 4215 8,436.0 8,436.0
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt

2019 pywlywbh nbYwnbiptnh 25-h

N 186-U npndwl
Unyntuwy 12

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
G5LQUYP@ YUNUUUL cNrRULN UUUNY

(hwquip npwdbbpny)

c |lal o AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

c % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = o0

s £ = 3 = nwakop

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,950,978.0 2,729,509.6 221,468.4
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 526,850.0 521,046.0 5,804.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 505,858.7 503,194.7 2,664.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 505,858.7 503,194.7 2,664.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 503,358.7 500,694.7 2,664.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 343,031.0 343,031.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 105,548.0 105,548.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 12,636.6 12,636.6 -
- UndntGwy SwrwjnipnLGbEn 4213 1,297.8 1,297.8 -
- Ywuwh SwrwjnipnLtGbp 4214 6,345.8 6,345.8 -
- Uywhnjwgnwywb dwfuutkn 4215 250.0 250.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 438.0 438.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 710.0 710.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 532.4 532.4 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 4,806.5 4,806.5 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 4,269.4 4,269.4 -
- Spwluwnpuwihb Gnipkn 4264 15,120.0 15,120.0 -
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 1,459.2 1,459.2 -
- Mwpunwnhp y&wpokn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 2,664.0 - 2,664.0
2. dwpswlwlb opybyinlGlnh hhdGwlnpngnid 2,5600.0 2,500.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 2,500.0 2,500.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph Sweuynipint GGG 11,471.3 11,351.3 120.0
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 11,4713 11,351.3 120.0
SwrwjnLpnLbbGn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 11,471.3 11,351.3 120.0
qnuibguwl Sweuyntpiwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 10,310.9 10,310.9 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGep 4212 600.0 600.0 -
- UndntGwy SwrwjnipnLGbEn 4213 15.0 15.0 -
- Ywuwh SwrwjnipnLtGbp 4214 96.3 96.3 -
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 96.0 96.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 180.8 180.8 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 18.3 18.3 -
- Mwpunwnhp y&wpokn 4823 34.0 34.0 -
- Jwpswywb uwppwynpniitbn 5122 120.0 - 120.0

2150101 | 5 | 0 |2anhwGnip pGnyph hwapuyhl 3,020.0 - 3,020.0
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 3,020.0 - 3,020.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 3,020.0 - 3,020.0
- LwjuwgswhbGunwgnunwywb dwfuubkn 5134 3,020.0 - 3,020.0

2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipuyhl 6,500.0 6,500.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| 5 2 pinLetnwh n 9 £ = Yunswyw pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
-
1 2 |3 |4 5 6 7 8

2161| 01 1 [CGnhwGntp pGnyph hwpwihG swrwjnienLGbGEn (wy 6,500.0 6,500.0 -
nuwubphb swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 1,500.0 1,500.0 -
npnpnLdGbph L YahrlG6nh nb&U Ybpwipllhs L
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 1,500.0 1,500.0 -
2. Qnyph GLuindwdp hpwiyniGplG&ph 5,000.0 5,000.0 -
qpuilguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioGén
- Uwubwghunwyw swrwjnipntGbtn 4241 3,000.0 3,000.0 -
- Mwpuwnhp y&wpokn 4823 2,000.0 2,000.0 -

2200/02|0 | 0 nUcSMULNIB@3NFL 2,000.0 2,000.0 -
wyn pynd’

2250102 | 5 | 0 | Quwpwwuwbnipint G (wy; nwubphl swuinbwlng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynd’
1. 2hGwwwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Jupdwlul huyuiplabnh
Yuquwlbpwdwlo wowlygnipint o
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NFLLGN 217,515.0 202,515.0 15,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 187,430.0 172,430.0 15,000.0
nnphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 unnpwbuwnnpun 172,430.0 172,430.0 -
wyjn pyntd’
1. Uupwyin-pbinnlyu swdyh Jbpwbnpngnid 148,500.0 148,500.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 148,500.0 148,500.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 16,650.0 16,650.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 16,650.0 16,650.0 -
wwhwwlntd
8. UwynninhlG6ph L thnnnglbph 7,280.0 7.280.0 -
YGpwlhwenignid L hhoGuwGnpngnid
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= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
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a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 7,280.0 7,280.0 -
wwhwwlntd

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynLd’
1. dbpbjwlyGbph hhoGwlnpngntd 15,000.0 - 15,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 30,085.0 30,085.0 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SGnBuwywl hwpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNh mucsmuLNi@3Ntu 6,500.0 6,500.0 -
wyn pynid’

2560|105 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 6,500.0 6,500.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubphl 6,500.0 6,500.0 -
swwinywann)
wyn pynd’
2. UfunnwhwGowl b dhounwqbpdédwl 3,500.0 3,500.0 -
Swipuynipynt (G6p /nbrunnhquighw
- UndntGwy SwrwjnipnLGbEn 4213 3,500.0 3,500.0 -
3. <wuwnwluwlwl gniquipwlbbbph 3,000.0 3,000.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 3,000.0 3,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 342,544.7 142,200.7 200,344.0

unuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

264006 | 4 | 0 | @nnngltph muwynpniy 17,975.0 2,975.0 15,000.0
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 17,975.0 2,975.0 15,000.0
wyn pynd’
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6. Ctlpbnh qbnwnybuwnwlwl (niuwynpnid 17,975.0 2,975.0 15,000.0
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,975.0 2,975.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGbBnph urenigned 5112 15,000.0 - 15,000.0

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 324,569.7 139,225.7 185,344.0
SweuynipyntGGEn (wy nwubphl swwnluwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbug 324,569.7 139,225.7 185,344.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwpbwlwnwl 26Gpaph hwipp 11,250.0 11,250.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 11,250.0 11,250.0 -
wwhwwlntd
2. PuquiwpGulywnuwl 26Gp6nh plip 17,5650.0 17,5650.0 -
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wyp Gneptn 4269 17,550.0 17,550.0 -
3. Pwiluyhl tnwpwéplbnh b 212,614.0 27,270.0 185,344.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 27,270.0 27,270.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 150,000.0 - 150,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 35,344.0 - 35,344.0
4. Puquwplwluwnwl 26Gpbph punbywnquwl 60,000.0 60,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 60,000.0 60,000.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 23,155.7 23,155.7 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 23,155.7 23,155.7 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 229,863.9 229,863.9 -
wyn pynd’

2810\ 08 | 1 | 0 | <wlquunh L uynpnh dweuyntpntGlbn 3,501.6 3,501.6 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 3,501.6 3,501.6 -
wyn pynd’
1. Uynpunuyhl dhonquienidabnh 3,601.6 3,501.6 -

Yuqdwlbpnwnid
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,501.6 3,501.6

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 226,362.3 226,362.3
nphg’

2821/ 08| 2 | 1 |Qpwnwpwabbn 48,525.9 48,525.9
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 48,525.9 48,525.9
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 48,525.9 48,525.9
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynidpdtn, YebunpnbGep 134,836.4 134,836.4
wyn pyntd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 134,836.4 134,836.4
Juquwlbpyniu
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 134,836.4 134,836.4
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb Yuqiwybpwnipyntbbkn 43,000.0 43,000.0
wyn pynd’
1. Vpwiynipuyhl dhonguientuGbph 43,000.0 43,000.0
hpwluwlwgni
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 37,500.0 37,500.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 5,500.0 5,500.0

2900(09|0 | O uPBNHBE3NHL 1,496,730.7 1,496,730.7
wyn pyntd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,091,767.2 1,091,767.2
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,091,767.2 1,091,767.2
wyn pynid’
1. Lwfuwi nquluwl niunignid 1,091,767.2 1,091,767.2
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 1,091,767.2 1,091,767.2
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 404,963.5 404,963.5
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 404,963.5 404,963.5
wyn pyntd’
1. Upwnw ngqwlwl nuuwnhwnwlynipintG 404,963.5 404,963.5
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 404,963.5 404,963.5 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000(10| 0 | O unshuLuyuu MucSMULNH33NFL 128,973.7 128,653.3 320.4
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunnny wpwnnGnipiniGGGR (wyy 37,612.5 37,612.5 -
nwubphl swunluwinn)
nnphg’

3071110 | 7 | 1 |Unghwjwywb hwwnnty wpunOnepyntGOen (wy) 37,512.5 37,512.5 -
nuwubphb swywunywbnn)
wyn pynd’
1. Unghuwjwiwbu wliwwwhny pGunuwiGhplbnh 1,400.0 1,400.0 -
bp6luwlbbph hwiquinh Yuqdwybnwnid
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 1,000.0 1,000.0 -
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 400.0 400.0 -
2. <wpwquiin sniabgnn wadwag b 3,062.5 3,062.5 -
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuqowlbpunid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,062.5 3,062.5 -
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 26,050.0 26,050.0 -
wnbwlwl L hhywwnwlh opbphl wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 6,300.0 6,300.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 14,300.0 14,300.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 600.0 600.0 -
- W Gwwuinbbp pinuobihg 4729 4,850.0 4,850.0 -
4. Unghwjwuwbu wiwwwhny widwlg 7,000.0 7,000.0 -
wowlgnipint G
- Qnyph L uwppwynpniibbph yupédwywintpinta 4216 1,000.0 1,000.0 -
- W Gwwuinbbp pinuobihg 4729 6,000.0 6,000.0 -

309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 91,461.2 91,140.8 320.4
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwawwwbntpjntb (wy nwubphl 32,295.2 31,974.8 320.4
swwinywlnn)
wyn pynd’
1. Unghwywlwb oqlnipjwl dweuyntpintGG6nH 32,295.2 31,974.8 320.4
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwunnnGbph w2fuwwnwywpdbn L 4111 30,278.9 30,278.9 -

hwyblwygwnbbp
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- EGGpgbuinhy swrwynipnLbGep 4212 650.0 650.0 -
- UndntGwy SwrwjnipnLGbEn 4213 20.0 20.0 -
- Ywuwh SwrwjnipnLtGbp 4214 91.2 91.2 -
- LbpphG gnpéninnLdGbp 4221 48.0 48.0 -
- Uwulwghunwywb swrwjnipintGbtn 4241 172.7 172.7 -
- UbpbOwlbph L uwppwynpnidbbph pbpwghy 4252 288.0 288.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwh Gnipbp L hwgniuwn 4261 400.0 400.0 -
- Mwpuwnhp y&wpokn 4823 26.0 26.0 -
- Jwpswywb uwppwynpniitbn 5122 320.4 - 320.4

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 59,166.0 59,166.0 -
odwlnwy dwrwnipintbbtn (wjp nwutphl
swwinywnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipint G 59,166.0 59,166.0 -
- Uywhnjwgnwywb dwfuubkn 4215 59,166.0 59,166.0 -
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Lwyblywéd N 7
Gnlwl pwnwph wywqwnt
2019 pywlywbh nbYwnbiptnh 25-h
N 186-U npndwl
Uryniuwy 13

GNE4YULN 2020 BFYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsSuusntULENe™ cUS R3NFRESU3hUL SUluUENh
RULUREN-2G3M@NIL YUN2ULUL cNRULh Uuuny

(hwquip npwdbbpny)

c |lal o AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

c = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap

-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 2,056,598.5 1,958,593.5 98,005.0
2100(01|0 | O oun<ULNEN ALNE3RBH <ULNU3LL 495,404.8 476,699.8 18,705.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 483,331.5 467,626.5 15,705.0
wbwnwhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbpnipyniGG6n,
wnunwphl hwpwpbpnipiniGGGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 483,331.5 467,626.5 15,705.0
Ywrwdwnnid
wyn pyntd’
1. Ywepwywndwl dwpdlh wwhwwlnig 475,331.56 467,626.5 7,705.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 317,057.0 317,057.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 97,556.0 97,556.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 19,370.0 19,370.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,669.7 1,669.7 -
- Ywuwh SwrwjnipnLtGbp 4214 7,435.0 7,435.0 -
- Uywhnjwgnwywb dwfuutkn 4215 260.0 260.0 -
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 605.0 605.0 -
- UpunwuwhdwOwb gnpéninniibbph gény dwjuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 500.0 500.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 300.0 300.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 892.6 892.6 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 241.0 241.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 5,020.0 5,020.0 -

Gnpngntd b wwhwwGnid
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| 5 2 pinLetnwh n 9 £ = Yunswyw pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Qpwublwyuwh Gnipbp L hwgniuwn 4261 2,266.1 2,266.1 -
- Spwluwnpuwihb Gnipkn 4264 9,250.8 9,250.8 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 2,103.3 2,103.3 -
- Mwpunwnhp y&wpokn 4823 100.0 100.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniitbn 5122 7,705.0 - 7,705.0
2. dwpswlwlb opybyinlGlnh hhdGwlnpngnid 8,000.0 - 8,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 8,000.0 - 8,000.0

2130|101 | 3 | 0 |Lanhwlnip pGnyph Sweuynipint GGG 7,473.3 7,473.3 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 7,473.3 7,473.3 -
SwrwjnLpnLbbEn
wyn pynd’
1. Pwnwpwghwlwl Yugnipjwl wwnbph 7,473.3 7,473.3 -
qnuibguwl dweuyntpiwl gnpdéntG6ntpjul
Yuwqiwlybpynid (wuindppuiljuwé
[hwqnpnipni GGGR)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 6,270.0 6,270.0 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGep 4212 491.1 491.1 -
- Ywuwh SwrwjnipnLtGbp 4214 87.9 87.9 -
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 624.3 624.3 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 3,000.0 - 3,000.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

215101 | 5 | 1 [CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 3,000.0 - 3,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 3,000.0 - 3,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,600.0 1,600.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,600.0 1,600.0 -
nuwubphb swywunywbnn)
wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 1,000.0 1,000.0 -
npnnidGbph b YahrGbph nbd Y6pwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 600.0 600.0 -
qpuiiguwl, qiwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 600.0 600.0 -

2200/02|0 | 0 nuUcSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpunwuwlbnipint G (wy; nwubphl swuinbwlng) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy| nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 1,500.0 1,500.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSEUUUUL <UnurtMPNHa3NFLLGN 139,613.0 124,613.0 15,000.0
wyn pynid’

2450104 | 5 | 0 | Spwluwnpwn 109,528.0 94,528.0 15,000.0
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnpun 94,528.0 94,528.0 -
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpwlnpngnid 76,600.0 76,600.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 76,600.0 76,600.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwlnpnqnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 2,928.0 2,928.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 2,928.0 2,928.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2455| 04 5 |flunnnywywwnuwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 210,594.0 146,594.0 64,000.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipyul L YndntGuy 210,594.0 146,594.0 64,000.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 210,594.0 146,594.0 64,000.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pyntd’
1. Pwiquwplwlwnwl 26Gpaph hwipp 37,094.0 37,094.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 37,094.0 37,094.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 22,000.0 22,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 22,000.0 22,000.0 -
3. Pwluyhl tnwpwoéplbnh b 75,000.0 11,000.0 64,000.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 11,000.0 11,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 59,000.0 - 59,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla 70,000.0 70,000.0 -

wyy wipfuunnuwliplbn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 60,000.0 60,000.0
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0
$hlwbuwywb Yugtwytnpwnipntbbbph
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 6,500.0 6,500.0
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,500.0 6,500.0
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 76,171.2 76,171.2
wyn pynLd’

2810108 | 1 | 0 |<wlquwnh L uynpuinh SweuynipinGGGn 3,735.0 3,735.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 3,735.0 3,735.0
wyn pyntd’
1. Uynpunuyhl dhonquienidabnh 3,735.0 3,735.0
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,735.0 3,735.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 72,436.2 72,436.2
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 32,397.8 32,397.8
wyn pynid’
1. Qpuinwpwluyhl SweuyntpntGGEN 32,397.8 32,397.8
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 32,397.8 32,397.8
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGep 21,423.4 21,423.4
wyn pynid’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 21,423.4 21,423.4
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 21,423.4 21,423.4
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 18,615.0 18,615.0
wyn pynd’
1. Vpwiynipuyhl dhonquenidlabnh 18,615.0 18,615.0
hpwlwlbuwgntd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 15,975.0 15,975.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,640.0 2,640.0

2900(09|0 | O urPENH33NHL 1,029,337.6 1,029,337.6

wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 608,281.2 608,281.2 -
YppnipintG
nnphg’

291109 | 1 | 1 |Lwjuwnwpngwywb Ynppnepinta 608,281.2 608,281.2 -
wyn pynd’
1. Lwfuwi nquluwl niunignid 608,281.2 608,281.2 -
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 608,281.2 608,281.2 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 421,056.4 421,056.4 -
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 421,056.4 421,056.4 -
wyn pyntd’
1. Upwnw ngqwwl nuuwnhwnwlynipintG 421,056.4 421,056.4 -
- Untpuhnhwtp ng $hOwbuwywl wenwywh 4511 421,056.4 421,056.4 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 103,977.9 103,677.9 300.0
wyn pynid’

3070/10| 7 | O |Unghwjwlwl hunny wpwnnGnipiniGGGn (wyy 30,156.0 30,156.0 -
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 30,156.0 30,156.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. Unghuwjwiwbu wiwwwhny pGunuwiGhplbnh 2,456.0 2,456.0 -
bp6luwlbbph hwiquinh Yuqdwybnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,456.0 2,456.0 -
2. <wpuwquitn sniGbgnn wGdwlg L 900.0 900.0 -
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuqowlbpunid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 900.0 900.0 -
3. Unghuwywwbu wlwuwwhny pGunwGhplbnha 13,900.0 13,900.0 -
wnbwlwl L hhywwnwlh opbphl wowlgnipint G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 1,500.0 1,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 7,790.0 7,790.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 2,300.0 2,300.0 -
- W Gwwuinbbp pinuobihg 4729 2,310.0 2,310.0 -
4. Unghwjwuwbu wiwwwhny widwlg 7,000.0 7,000.0 -
wowlgnipint G
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,000.0 3,000.0 -
- W Gwwuinbbp pinuobihg 4729 4,000.0 4,000.0 -
5. <wuwnpwlwlwl ywqiwlybpunipini GGGpAG 5,900.0 5,900.0 -
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 5,900.0 5,900.0 -
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 73,821.9 73,521.9 300.0
nwubphl swunluwinn)
nphg’

309110 | 9 | 1 |Unghwjwywl wwwwwbntpjntb (wy nwubphl 30,501.9 30,201.9 300.0
swwinywlnn)
wyn pynid’
1. Unghwywlywib oqlnipjwl dweuyntpintGG6nH 30,501.9 30,201.9 300.0
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 28,921.7 28,921.7 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 410.8 410.8 -
- UndntGwy SwrwjnipnLGbEGn 4213 100.0 100.0 -
- Ywuwh SwrwjnipnLtGbp 4214 390.6 390.6 -
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 278.8 278.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 100.0 100.0 -
- Jwpswywb uwppwynpniibbn 5122 300.0 - 300.0

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpudwnnpynn 43,320.0 43,320.0 -
odwlnwy dwrwnipyntbbtn (wjp nwubphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipint G 43,320.0 43,320.0 -
- Uywhnjwgnwywb dwfuubin 4215 43,320.0 43,320.0 -
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